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Valency properties of Mandinka verbs

1. Introduction

Mandinka, spoken by approximately 1.5 million speakers in The Gambia, Senegal,
and Guinea-Bissao, is the westernmost member of the Manding dialect cluster
included in the Western branch of the Mande language family.! The area where
Mandinka is spoken largely coincides with the pre-colonial state of Kaabu.? Speakers
of Mandinka call themselves Mandinkdolu (singular: Mandinkéo) and designate their
language as mandinkakdno.> Rowlands 1959 and Creissels 1983 constitute the main
references on Mandinka grammar.

The question addressed in this paper is the groupping of Mandinka verbs into
valency classes. The only Manding variety whose argument structure has been
studied in some detail before is Bambara - see Creissels 2007.

The data quoted in this paper originate from a variety of sources but have been
systematically checked with the help of two Mandinka consultants, Boubacar Cissé
and Amadou Massaly, during field trips to Sédhiou (Senegal) carried out in
November 2010 and November 2011. Some additional data has also been provided
by Pierre Sambou, who teaches Mandinka at the University of Dakar. Most examples
originate from texts but have been re-formulated with the help of the consultants in
order for the reader to be able to concentrate on the aspects of their construction
directly relevant to the topic of this paper.

The paper is organized as follows. Section 2 provides basic information about the
structure of Mandinka clauses and shows that the transitivity alternations of
Mandinka cannot be analyzed as involving null subjects or objects. Section 3
describes the valency patterns in terms of coding frames. Section 4 deals with the
uncoded alternation. Section 5 is devoted to coded alternations. Section 6 puts
forward valency classes of Mandinka verbs. Section 7 provides a concluding
discussion. The list of the Mandinka equivalents of the 70 verb meanings
constituting the questionnaire of the Valency Classes Project is given as an appendix.

! The most recent classification of Mande languages, elaborated by Valentin Vydrin, can be found at
http://mandelang.kunstkamera.ru/index/langues_ mande/famille mande/

2 According to oral traditions, the Kaabu kingdom originated as a province of the Manding empire
conquered in the 13th century by a general of Sundiata Keita called Tiramakhan Traore. After the
decline of the Manding empire, Kaabu became an independent kingdom. Mandinka hegemony in the
region lasted until 1867, when the Kaabu capital (Kansala) was taken by the armies of the Fula
kingdom of Futa Jallon.

® Mandingkdéo is the definite form of a noun mandigkd resulting from the addition of the suffix -pka
‘people from ...’ to the toponym Mandin, which primarily refers to the region that constituted the
starting point of the Manding expansion. Mandinkakdno is literally ‘language of the people from
Manding’.
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2. Mandinka clause structure
2.1. The prototypical transitive construction

The two core arguments of the prototypical transitive construction A and P
obligatorily precede the verb, and A obligatorily precedes P. Independent assertive
and interrogative transitive clauses always include a predicative marker encoding
TAM and polarity (yé ‘perfective positive (transitive)’, mdnp ‘perfective negative
(intransitive)’, ka ‘habitual positive’, etc.), inserted between A and P.

Obliques are most of the time encoded as postposition phrases. Toponyms, spatial
adverbs and a few common nouns fulfill the function of ground in spatial
relationships without requiring the addition of an adposition, but apart from this
particular case, adpositionless obliques are only marginally possible. Obliques follow
the verb, with two exceptions: time and place adjuncts may also be found in
sentence initial position, and accompaniment or manner adjuncts introduced by the
associative preposition nip ‘with’ may immediately follow A or P, depending on their
semantic scope.

A and P are neither flagged nor indexed on the verb. Pronouns occupy the same
positions as canonical NPs and have the same forms in all their possible functions.

(1) a. Kambaan-6o ye sda bisd fdl-6o la.
boy-DEF PF.POS.TR  snake.DEF  hit  stick-DEF oBL*
‘The boy hit the snake (with a stick).’

b. Kambaan-6o0 man ber-60 fdyi  palantéer-6o kan.
boy-DEF PF.NEG.TR  stone-DEF = throw window-DEF  on
‘The boy did not throw the stone into the window.’

c. Kew-6 ka a téerimda mdakéyi kéd-6o  to.
man-DEF HAB.POS 3sG friend help money-DEF LOC
‘The man helps his friend financially.’

2.2. Intransitive predication

The NP representing the unique argument U of monovalent verbs precedes the
verb. It is neither flagged nor indexed on the verb. Obliques behave exactly in the
same way in transitive and intransitive clauses.

In intransitive predication, three predicative markers are different from those
found in transitive predication: ®

4 In the examples below, postpositions marking oblique arguments are glossed according to the
meaning they typically express as heads of postposition phrases in adjunct function, with three
exceptions: ld, md, and ti, for which the generic gloss OBL is used. The reason is that the analysis of
the uses of these three postpositions as extensions of some ‘central’ or ‘prototypical’ meaning is
particularly problematic.

> Note that, in the perfective negative and imperfective negative, the distinction is not always
apparent, since depending on the tonal context, the distinction between mdny and mdp, or té and té,
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—the perfective positive, encoded by the predicative marker yé in transitive
predication, is encoded in intransitive predication by the verbal suffix -td;

—the perfective negative, encoded by the predicative marker mdpy in transitive
predication, is encoded in intransitive predication by the predicative marker mdpn;

- the negative copula té used as an imperfective negative auxiliary, has its usual
form té in transitive predication, but occurs as té in intransitive predication.

The complementary distribution between the two variants of three predicativve
markers provides a very simple criterion for recognizing constructions as transitive
or intransitive in case of doubt. The other TAM and polarity values are encoded by
the same predicative markers in transitive and intransitive constructions. In
intransitive predication, the predicative markers other than -td (perfective positive)
are inserted between U and the verb.

(2) a. Dendik-60 jaa-td til-6o la.
shirt-DEF be/become_dry-PF.POS.INTR sun-DEF OBL
‘The shirt dried up in the sun.’

b. Kew-6 madn kimd mus-6o ye.
man-DEF PF.NEG.INTR talk woman-DEF BEN
‘The man did not talk to the woman.’

c. Dindin-o kd tootéo jamdajamaa.
child-DEF  HAB.POS cough often
‘The child often coughs.’

2.3. Intransitive alignment, and the notions of subject and object

A and P show no contrast in either flagging or indexation, and both precede the
verb. The only coding property of A and P that can be used to characterize
Mandinka clause structure with respect to intransitive alignment is that A precedes
the predicative markers, whereas P follows them. The fact that A and U equally
precede the TAM-polarity markers that are not suffixed to the verb, whereas P
follows them, constitutes therefore the only coding property of the core terms of
transitive and intransitive clauses on the basis of which a notion of subject
conflating U and A can be recognized.

The following formula, in which S, O and X stand for ‘subject’, ‘object’ and
‘oblique’ respectively, summarizes the canonical structure of Mandinka clauses:

SOVX X)..

may be neutralized. It is however always apparent if the following word begins with a high-toned
syllable.
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2.4. Ditransitive alignment

Mandinka clauses cannot include more than two core NPs, in the sense that they
never include a third NP whose behavior would be more similar to that of the object
than to that of ordinary obliques. In the construction of semantically trivalent verbs,
one of the three arguments must necessarily be encoded as an optional postposition
phrase in post-verbal position, and its behavioral properties do not distinguish it
from obliques representing adjuncts. For example, Mandinka has two equivalents of
English ‘give’: with dii (which by itself implies nothing more than transfer), the gift
(alias theme) is represented by the object NP (‘indirective’ alignment), whereas with
s6 (which implies that the recipient becomes the possessor of the gift) the object NP
represents the recipient (‘secundative’ alignment).

(3) a. Kew-6 ye kéd-60 dii mus-6o la
man-DEF PF.POS.TR money-DEF give woman-DEF OBL
‘The man gave money to the woman.’

b. Kew-6 ye mus-6o0 s0  koéd-6o la.
man-DEF PF.POS.TR woman-DEF give money-DEF OBL
‘The man gave money to the woman.’

2.5. Transitivity alternations, or null subjects or objects?

In language description, the analysis of lability is conditioned not only by the
alignment properties of the languages, but also by the existence of a more or less
clear-cut distinction between transitive and intransitive predications.

In a language like English, the notion of A-lability is problematic in the sense that
it boils down to the optionality / obligatoriness of NPs in object function, and does
not imply the deletion of the corresponding participant from argument structure: a
verb like eat can be simply described as a transitive verb accepting a null object with
an unspecific reading. By contrast, the behavior of verbs like break cannot be
described in a similar way, but only by positing a transitivity alternation by which
the subject of an objectless construction is assigned a semantic role similar to that
assigned to the object when an object NP is present. Symmetrically, in languages in
which S is fully aligned with P, the notion of P-lability may be problematic, whereas
A-lability clearly involves a transitivity alternation — see Creissels 2009.

In Mandinka, the analysis of lability is facilitated by the fact that:

(a) subjects and objects are distinguished from each other by their position to the
left or to the right of predicative markers, and
(b) three TAM-polarity markers have variants conditioned by transitivity.

In Mandinka, regardless of their status as arguments or adjuncts, obliques are
syntactically optional, whereas participants encoded as subjects or objects (i.e.,
represented by NPs preceding the verb) are obligatorily expressed. The two crucial
observations are that:
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—a construction with a null subject would be @ pm O V (where pm stands for
‘predicative marker’), with the predicative marker in clause-initial position,
which is absolutely impossible in assertive or interrogative clauses;°

—in a transitive construction with a null object (S pm @ V), the perfective positive,
perfective negative and imperfective negative markers would occur as yé, mdp
and té immediately preceding the verb, which is absolutely impossible too.

It would consequently not be correct to recognize null subjects or objects (with
either an anaphoric or unspecific reading) in the analysis of Mandinka clauses. This
must however be emphasized, since at first sight, phenomena that must be analyzed
as involving a change in the construction of the clause might give the impression of
being analyzable in terms of null subjects or objects.

For example, the comparison between (4a) and (4b) might suggest that (4b)
includes a null object, since the distinction between mdp (transitive) and mdp
(intransitive) is apparent in (4a) but not in (4b), due to the action of tonal processes
that neutralize the distinction before a word beginning with a low-toned syllable,
such as teyi ‘cross’.

(4) a. Moo-lu man bda teyi.
person.DEF-PL  PF.NEG.TR river.DEF Cross
‘The people did not cross the river.’

b. Méo-lu mdn teyi.
person.DEF-PL.  PF.NEG.INTR Cross
‘The people did not cross.’

However, this analysis is contradicted by the fact that the positive sentence
corresponding to (4b) unambiguously includes the intransitive variant of the
perfective positive marker (-td) — Ex. (4d-e).

(4) c. Moo-lu ye bda teyi.
person.DEF-PL  PF.POS.TR river.DEF Cross
‘The people crossed the river.’

d. *Modo-lu yé teyi.
person.DEF-PL.  PF.POS.TR Cross
intended: ‘The people crossed.”

® The only predicative marker that can be found in clause-initial position is kdna (prohibitive) in
imperative sentences, in which a second person subject is understood.

7 The sequence Mdolu yé teyi is acceptable, but only with the meaning ‘The people should cross’, i.e.,
if yé is interpreted as the hortative marker, which is homonymous with perfective yé but can occur in
intransitive clauses too, contrary to perfective yé.
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e. Moo-lu teyi-ta.
PEerson.DEF-PL  Cross-PF.POS.INTR
‘The people crossed.’

Moreover, (4f) shows that the missing argument in the construction illustrated by
Ex. (4b) & (4e) can be encoded as an oblique.

(4) f. Moo-lu teyi-ta bda la.
PEerson.DEF:PL  Cross-PF.POS.INTR river.DEF OBL
‘The people crossed the river.’

There is therefore converging evidence that teyi ‘cross’ is not a transitive verb
compatible with a null object, but an A-labile verb whose second argument can be
encoded as either the object of a transitive construction, or an oblique argument in
an intransitive construction. (4b) does not contradict the principle according to
which null objects are not allowed in Mandinka, since the missing argument in (4b)
is not the object of a transitive clause, but the oblique argument of an intransitive
construction of the same verb: comparison with (4c-f) shows that (4b) must be
analyzed as Moolu mdn teyi (bda la) rather than *Mdolu mdn (bda) teyi. More
generally, the two constructions of teyi ‘cross’ can be schematized as indicated in
(48).

(4) g xteyi(yla) intransitive construction with an optional oblique argument
~ x Yy teyi transitive construction with an obligatory object

Similarly, in Ex. (5b), the absence of anything that could be analyzed as passive
marking might suggest the recognition of a null subject with an arbitrary reading.
However, if kiliino were the object in a transitive construction with a null subject,
the TAM-polarity marker (here, the negative copula used as an imperfective negative
auxiliary in combination with the infinitive form of the verb) would be té rather that
té (note that, due to the fact that the first syllables of kiiliino ‘boat’ and dddda ‘repair’
are high-toned, the distinction is apparent here), and it would precede kiiliino, as in
the ungrammatical sequence (5c¢).

(5) a. Kew-0 te kilin-o  dddda-la.
man-DEF IPF.NEG.TR boat-DEF  repair-INF
‘The man will not repair the boat.’

b. Kaliin-o té dddda-la.
boat-DEF IPF.NEG.INTR repair-INF
‘The boat will not be repaired.’

c. *0Q té kilin-o  dddda-la.
IPF.NEG.TR  boat-DEF  repair-INF
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Consequently, (5b) is not a transitive construction with a null subject, but an
intransitive construction whose subject (kiltino) has the same semantic role as the
object of the transitive construction (5a).

2.6. The middle construction

In Mandinka, the use of intensive pronouns such as 7 fdgo |1SG|INT| constitutes
the productive way of expressing reflexivity, but Mandinka also has a reflexive
pronoun with two possible forms (7 in the 1st person, 7 in the 2nd and 3rd persons)
used with some transitive verbs to express object reflexivization. Formally, the
construction with this reflexive pronoun in object position (henceforth ‘middle
construction’) is unambiguously a transitive construction in which the O slot is
occupied by the reflexive pronoun, since in the presence of the reflexive pronoun,
the marker of the perfective positive is invariably yé, never -td. However,
functionally, much in the same way as the se-construction in French and other
Romance languages, it does not always express the reflexivization of a transitive
construction with a canonical NP in O function, and therefore must be treated as a
distinct construction in a study of the valency properties of verbs.

Ex. (6) illustrates the reflexive use of the middle construction, whereas in Ex. (7),
the middle construction encodes a valency operation of the antipassive type.

(6) a. Mus-6o ye dindin-o  kuu.
woman-DEF PF.POS.TR child-DEF  wash
‘The woman washed the child.’

b. Mus-6o  ye i kuu.
woman-DEF PF.POS.TR REFL wash
‘The woman washed (herself).’
(7) a. Kew-6 ye kambaan-6o jé.
man-DEF PF.POS.TR boy-DEF see
‘The man saw the boy.’

b. Finkintéw-o-lu bika 1{  je.
blind-DEF-PL HAB.NEG REFL see
‘The blind do not see.’

2.7. Postpositions

Two postpositions are particularly common in the function of oblique argument
marker: ld and md.

Comparative data shows that Id is originally a spatial postposition, but in
Mandinka, its use in the expression of concrete spatial relationships is marginal. In
addition to its use as an oblique argument marker, Id is fully productive in the
encoding of adjuncts expressing non-spatial location (such as dookiiwo ld ‘at work’),
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and of instrumental adjuncts, and ld-marked cause or purpose adjuncts are common
too. Ld is also used as a genitive marker of ‘alienable’ possession.

Comparative data suggests that the original function of md was the expression of
contact, but in Mandinka, this postposition is almost exclusively used as an oblique
argument marker. Apart from that, md is only found with adjuncts encoding a
participant affected by an event in which (s)he plays no role, as in Ex. (8).

(8) a.Bda  fda-td i ma.
river.DEF be_full-PF.POS.INTR 3PL  OBL
‘The tide was high when they arrived at the river.’
lit. “The river was full for them.’

The other postpositions used in the function of oblique argument marker are t
(productively used in essive, transformative and comparative functions, also
marginally found in comitative function), té (a spatial postposition which does not
refer to any particular type of spatial configuration), yé (benefactive), kdnp ‘on’, kété
‘under’ (cognate with the noun kété ‘meaning’), kéo(ma) ‘behind’ (cognate with the
noun kéo ‘back’), bdld (cognate with the noun bdld ‘body’, productively used to
encode contact), bulud (cognate with the noun bild ‘hand’, productively used to
encode reference to the personal sphere of a participant), and ndoma ‘after’ (cognate
with ndo ‘track’).

3. Coding frames ¢
3.1. Monovalent verbs
3.1.1. The intransitive frame x —

The following verbs are among those for which this frame is the only one
available:

x faji = x boils

X jda = xis dry

x jagkari = x falls ill
x kogké = x is hungry
x saa = x dies

x toot6o = x coughs

8 In the schematic presentation of coding frames, the dash indicates the slot occupied by the verb, and
the variables x, y and z symbolize NPs in argument function. ‘Postp’ symbolizes the postposition
taking an oblique argument as its complement. Note however that oblique arguments encoding the
ground in a spatial configuration do not necessarily have the form of a postposition phrase, since
some noun phrases (in particular, toponyms) can be used in this function by themselves. In the
presentation of the coding frames of individual verbs, such oblique arguments will be represented as
‘L’ (abbreviation for ‘locative expression’).
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3.1.2. The middle frame x Refl —

The middle frame is the only possible frame, or at least the default frame, for a
few Mandinka verbs, for example:

x Refl sitminaa = x urinates

In the particular case of stmiinda, the only other possibility is a transitive
construction referring to the marked situation in which micturition results in the
emission of something else than urine (bood for example).

3.2. Bivalent verbs
3.2.1. The transitive frame x y —

No Mandinka verb has the transitive frame as its only possible frame, since all
verbs for which the transitive frame can be considered basic are also used
intransitively with a passive reading (see 4.2). The following verbs are among those
for which an intransitive construction with a passive reading is the only alternative
to the transitive frame:

x y bayindi = x follows y

x y dddda = x makes y, x repairs y
xydomoé = x eats y

x y félé = x looks at y

x y kant = x likes y, x loves y

x y kliu = x washes y

x y lda = x sings y — y a song

x ylii = x shavesy

x y maakoyi = x helps y

x y moyi = x hears y

x y muta, = x catchesy

x y niki) = x learns y

x y fiini(y) = x searches for y
xysii = x grinds y

x y sila-ndi = x frightens y (< sildy ‘fear’)
x y sin = x digs y, x digs for y

x y sumba = x smells y, x kisses y
x y tdbi = x cooks y

xy woté = x peels y

3.2.2. The extended intransitive frame x — y Postp

The following verbs are among those for which this frame is the only one
available:
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x lafi y 14 = x likes y, x wants y
x silag y 14 = x fears y

3.2.3. The extended middle frame x Refl — y Postp

The extended middle frame is the only one possible for a few Mandinka verbs, for
example:

x Refl 1akard y 14 = x finishes y
3.3. Trivalent verbs
3.3.1. The extended transitive frame x y — z Postp

For the following verbs, the extended transitive frame and the corresponding
extended intransitive frame with a passive reading are the only possible frames:

xydiizlad = x givesy to z

xynii z14 = x offers y to 2

x y fiinigkda z 14 = x asks y about 2z
xys6zlad = xgivesztoy

x y yita(ndi) z 14 = x shows y to z
xyf6zyé = xtellsytoz

3.3.2. The doubly extended intransitive frame x — y Postp, z Postp,

This frame is attested with a few verbs, but I have been able to find no verb for
which it would be the only one possible.

4. Uncoded valency alternations
4.1. Causative / Anticausative Alternation

In the Causative / Anticausative Alternation, a verb that can be used transitively
also has an intransitive construction which does not imply the involvement of a
participant with the semantic role assigned to the subject of the transitive
construction; the referent of the subject of the intransitive construction is presented
as undergoing the same process as the object of the transitive construction, but
without any hint at a possible external cause — Ex. (9).

(9) a. Mdnk-6o jolon-td bangk-6o0  to.
mango-DEF fall-PF.POS.INTR ground-DEF LOC
‘The mango fell on the ground.’
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b. Kew-6 ye mur-6o  joléoy  bapk-6o to.
man-DEF PF.POS.TR knife-DEF  drop ground-DEF LOC
‘The man dropped the knife on the ground.’

The relationship between two constructions related in this way is of the type
expressed in other languages either by a transitivizing derivation of the causative
type, or by a de-transitivizing derivation of the anticausative type. In Mandinka, the
productivity of this alternation is limited not only by the possibility to conceive
events as more or less spontaneous processes affecting a single participant, but also
by the possible use of derived causative verbs making explicit the involvement of an
agent.

Diip ‘enter’ illustrates the case of a verb lending itself to the causative /
anticausative alternation — Ex. (10a-b), which however also has a morphologically
marked causative form — Ex. (10c).

(10) a. Wul-60 dun-ta bin-o kéno.
dog-DEF enter-PF.POS.INTR house-DEF  inside
‘The dog went into the house.’

b. Mus-6o0  ye mirdp-o  dunp dindin-o bulu.
woman-DEF PF.POS.TR bowl-DEF  enter child-DEF  PSPH
‘The woman put the bowl into the hands of the child.’

c. Mus-6o ye kew-6 du-ndi bin-o kéno.
woman-DEF PF.POS.TR man-DEF enter-CAUS house-DEF inside
‘The woman let the man into the house.’

The competition between Causative / Anticausative Alternation and Causative
Derivation is one of the trickiest aspects of Manding grammar. Their respective
productivity shows important dialectal variations (and Mandinka is one of the
dialects in which Causative Derivation is particularly productive), and fluctuations
can be observed even within the limits of a given dialect. Lexicalization also plays an
important role. An unquestionable regularity is however that, as already illustrated
by Ex. (10), the use of causative forms tends to correlate with less direct causation, a
relatively high degree of agentivity of the causer, and the ability of the causee to
control the process and/or to oppose the manipulation exerted by the causer. Ex.
(11) provides another illustration: with borf ‘run, move quickly’, the transitive use of
the verb in its non-derived form is limited to a particular type of direct causation
(‘ride a horse’, ‘drive a car’), whereas the causative form does not show the same
limitation.

(11) a. Suw-o bori-ta.
horse-DEF  run-PF.POS.INTR
‘The horse ran.’
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,

b. Kew-6 ye suw-o bori.
man-DEF PF.POS.TR horse-DEF  ride
‘The man rode the horse.’
c. Kew-6 ye suw-o bori-ndi.
man-DEF PF.POS.TR horse-DEF run-CAUS
‘The man rode the horse.” or ‘The man made the horse run.’

4.2. Active / Passive alternation

The Active / Passive Alternation has already been presented in Section 2.5, in the
discussion of constructions in which the only expressed argument of a transitive verb
is the patient. In this alternation, a verb that can be used transitively also has an
intransitive construction interpreted as implying the same participants as the
transitive construction. The subject of the intransitive construction encodes the same
participant as the object of the transitive construction, whereas the participant
encoded as the subject of the transitive construction is left unexpressed.

(12) a. Kew-6 ye wot-60 dddaa.
man-DEF PF.POS.TR car-DEF repair
‘The man has repaired the car.’

b. Wot-60 dddda-ta.
car-DEF  repair-PF.POS.INTR
‘The car has been repaired.’

(13) a. Kambaan-éo ye nds-6o feereetoo-bén  koldén-o kéno.
boy-DEF PF.POS.TR magic_water-DEF cleverly-pour well-DEF inside
‘The boy cleverly poured the magic water into the well.’

b. Nds-60 feereetoo-bon-td kolon-o kéno.
magic_water-DEF  cleverly-pour-PF.POS.INTR well-DEF inside
‘The magic water was cleverly poured into the well.’

The existence of the Active / Passive Alternation giving rise to morphologically
unmarked passive constructions constitutes the most original aspect of Manding
argument structure. In spite of the absence of anything that could be analyzed as
passive morphology, the construction illustrated by sentences (12b) & (13b) is
passive in the sense that the patient is the subject of an intransitive construction in
which the agent is syntactically demoted without however being deleted from
argument structure. A decisive proof of the passive nature of the intransitive
constructions involved in this alternation is their ability to include an agent-oriented
adverb, such as feereetoo- ‘cleverly’ in Ex. (13b).

The passive reading of such intransitive clauses is not bound to any particular
condition on aspect, mood, or referentiality. Mandinka speakers use intransitive
constructions with a passive reading in the same conditions and with the same
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semantic implications as agentless passive clauses in languages that have canonical
passive constructions, and the passive use of the intransitive construction is
semantically equivalent to the use of transitive clauses in which a third person plural
pronoun in subject role receives an arbitrary reading.

There is however an important difference between Mandinka and other Manding
dialects in the syntactic properties of the passive construction. In other Manding
dialects, intransitive clauses constituting the passive counterpart of a transitive
clause may include an oblique representing the participant encoded as the subject of
the transitive construction, as in Ex. (15) from Bambara.

(14) a. Wulii md s0g0 diin. [Bambara]
dog.DEF PF.NEG  meat.DEF eat
‘The dog did not eat the meat.’

b. Sogé md diin (wuli fe). [Bambara]
meat.DEF PF.NEG eat dog.DEF by
‘The meat has not been eaten (by the dog).’

This possibility does not exist in Mandinka. Interestingly, the passive clauses of
Mandinka may include obliques marked by the same postpositions as those used to
encode the agent in the other Manding dialects (i.e., postpositions whose basic
meaning is reference to the personal sphere of an individual), but in the passive
clauses of Mandinka, such obliques are interpreted as referring to a person who has
some link with the event but does not play an active role in it, or to an involuntary
agent, as in Ex. (15).

(15) Kod-60 domo-ta ] fee.
money-DEF spend-PF.POS.TR 1SG  beside
‘The money was spent without my knowing.’ or ‘I spent the money, but I did
not do it on purpose.’

The Active / Passive Alternation is not bound to conditions on semantic roles, and
the only limitation to its productivity seems to be ambiguity avoidance with verbs
also involved in the Causative / Anticausative Alternation (but even with such verbs,
intransitive construction with a passive reading are common in contexts favoring a
passive reading).

4.3. Object / Oblique Alternation

In the Object / Oblique Alternation, the verb occurs in an intransitive construction
including an oblique which can equally be encoded as the object of a transitive
construction. As discussed above on the example of teyi ‘cross’, in accordance with
the general properties of objects and obliques in Mandinka, this term is obligatory in
the transitive construction, but can be omitted from the intransitive construction.

Two semantic subtypes of the Object / Oblique Alternation can be distinguished:
the Delimitative Alternation and the Applicative Alternation.
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4.3.1. Delimitative Alternation

In the Delimitative Alternation, typically found with verbs expressing a manner of
moving, the transitive construction encodes the same one-participant event as the
intransitive construction; the unique participant is encoded as the subject, and the

object encodes the temporal or spatial delimitation of the event — Ex. (16) & (17).

(16) a.

(17) a.

Kew-0 tdamd-ta.
man-DEF walk-PF.POS.INTR
‘The man walked.’

. Kew-6 ye wul-60 bée tdama.

man-DEF PF.POS.TR bush-DEr all ~ walk
‘The man walked through the whole bush.’

. Kew-6 ye tili Wuld tdama, a mdy futd  saatéw-o to.

man-DEF PF.POS.TR day five wander 3sG PF.NEG.INTR arrive village-DEF OBL
‘The man walked five days without arriving at the village.’

Kiinupg i ydayi-ta bdake.
yesterday 2SG  wander-PF.POS.INTR  a_lot
‘You wandered a lot yesterday.’

. Musu-kéebda-lu nin deenaan-6o0 ye saatéw-o bée ydayi.

woman-old.DEF-PL. with baby-DEF PF.POS.TR village-DEF all ~ wander
‘The old women wandered round the whole village with the baby.’

4.3.2. Applicative Alternation

In the other cases of Object / Oblique Alternation, the object of the transitive
construction represents a second participant treated as an oblique in the
corresponding intransitive construction. This alternation, designated as Applicative
Alternation for reasons that will be commented below, has already been illustrated
with teyf ‘cross’ — Ex. (4) above. Selé ‘climb’ and wiiliu ‘give birth’ provide additional

examples.

(18) a.

b.

Sul-60 sele-ta yir-6o0 sdnto.
monkey-DEF climb-PF.POS.INTR tree-DEF on_top
‘The monkey climbed up the tree.’

I bitka yir-6o selé a  jamb-6o0 la.
2SG HAB.NEG tree-DEF climb 3sG leave-DEF  OBL
‘One does not climb a tree by the leaves.’

p. 16/84
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(19) a. Mus-60  wiiltiu-td (sugkit-6o  la).
woman-DEF give_birth-PF.POS.INTR  girl-DEF OBL
‘The woman gave birth (to a girl).’

b. Mus-6o0  ye stpkut-6o le  wuluu.
woman-DEF PF.POS.TR girl-DEF Foc give_ birth
‘The woman gave birth to a girl.’

This alternation is not very productive. It does not seem possible to propose a
semantic feature whose presence would automatically license it. An interesting
semantic generalization is however that it is never found with verbs encoding
prototypical events in which a patient undergoes a change of state triggered by a
manipulation exerted by an agent.

This observation has an interesting consequence for terminology. From a strictly
formal point of view, this alternation involves a change in the construction similar to
that triggered by applicative as well as antipassive derivations, depending on the
choice of one of the two possible orientations. But licensing the presence of an
object NP representing a participant that otherwise would not be encoded as a core
term of the transitive construction is a typical function of applicative derivations,
whereas antipassive derivations are typically used to demote prototypical patients.
Consequently, it is consistent to designate as applicative alternation a transitivity
alternation that does not affect the semantic role of the subject and in which the
participant encoded as the object of the transitive construction is never a
prototypical patient.

The way the verbs lending themselves to the Applicative Alternation behave with
respect to causativization corroborates this analysis, since those of them that have a
causative form take the causative suffix -ndi, typically used to causativize
intransitive constructions, and none of them is compatible with the causative suffix
-(di)rindi used to causativize transitive constructions.

4.4. Active / Introversive Alternation

In the Active / Introversive Alternation, the verb has an intransitive construction
and a transitive construction in which it assigns the same semantic role to its
subject, but the participant encoded as the object of the transitive construction
cannot be expressed in the intransitive construction, which distinguishes this
alternation from the Object / Oblique alternation. This Active / Introversive

alternation has been found with very few verbs. It is illustrated here by ddsd ‘lack’
and kardn ‘learn’.

(20) a. Jiy-o ddsd-td le.
water-DEF  lack-PF.POS.INTR FOC
‘Water is lacking.’
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b. Kéd-6o  ye 7 ddsa.
money-DEF PF.POS.TR 1SG  lack
‘I lack money.’

(21) a. Nip kew-6 ye Fiild-kdn-o karan.
DEM man-DEF PF.POS.TR Fula-language-DEF learn
‘The man learned the Fula language.’

b. Niy kew-6 kardn-ta bdake.
DEM man-DEF learn-PF.POS.INTR very
‘The man is a very learned person.’

4.5. Object / Oblique Permutation

The Object / Oblique Permutation involves trivalent verbs that have two
constructions with the same argument selected in subject function, but two possible
choices for the argument encoded as the object — Ex. (22) & (23).

(22) a. Kew-6 ye batday-6o sdfée a  diy-o ye.
man-DEF PF.POS.TR letter-DEF write 3sG SON-DEF BEN
‘The man wrote a letter to his son.’

b. Kew-6 ye a dip-o sdfée batday-6o la.
man-DEF PF.POS.TR 3sG SONn-DEF write letter-DEF OBL
‘The man wrote a letter to his son (lit. wrote his son with a letter).’

(23) a. Kew-6 ye tiy-60 sooli  boot-6o0  kono.
man-DEF PF.POS.TR peanuts-DEF cram bag-DEF inside
‘The man crammed the peanuts into the bag.’

b. Kew-6 ye boot-60  sooli  tiy-60 la.
man-DEF PF.POS.TR bag-DEF stuff peanuts-DEF OBL
‘The man stuffed the bag with peanuts.’

4.6. Non-canonical uses of the middle construction

Some Mandinka verbs are found in an intransitive construction and in a middle
construction in which they assign the same role to their subject. Some of them, for
example bdliu ‘live’ — Ex. (24), have no possibility of a transitive use, others, for
example nukup ‘hide’ - Ex. (25), also have a transitive use related to their
intransitive use via the Causative / Anticausative Alternation.

(24) a. Baramatéo té bdliiu-la.
injured_person.DEF IPF.NEG.INTR live-INF
‘The injured person will not survive.’
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b. Moo  jdamda ka i bdliu sen-6o le ld japy.
person many HAB.POS REFL live farming-DEF FOC OBL here
‘Many people live on farming here.’

(25) a. Dindip-o nuktn-td yir-6o0 kdéoma.
child-DEF  hide-PF.POS.INTR  tree-DEF behind

“The child hid behind the tree.’

b. Dindin-o ye i nukupg yir-6o0 kéoma.
child-DEF ~ PF.POS.TR REFL hide tree-DEF behind

‘The child hid (himself) behind the tree.’

c. Mus-6o ye kéd-6o  nukun.
woman-DEF PF.POS.TR money-DEF hide
‘The woman hid the money.’

Some other Mandinka verbs have a middle construction related to a transitive
construction of the same verb by a valency operation of the antipassive type. In
some cases, for example with mip ‘drink’ — Ex. (26), the participant encoded as the
object of the transitive construction is encoded as an oblique in the middle
construction. In other cases, for example with jé ‘see’ — Ex. (27), the participant
encoded as the object of the transitive construction cannot be expressed in the
middle construction.

(26) a. Kew-6 ye jiy-o mir.
man-DEF PF.POS.TR water-DEF  drink
‘The man drank water.’

b. Kew-6 ye i min jiy-o la.
man-DEF PF.POS.TR REFL drink water-DEF  OBL
same meaning as (a)

(27) a. Kew-6 ye kambaan-éo jé.
man-DEF PF.POS.TR boy-DEF see
‘The man saw the boy.’

b. Fipkintéw-o-lu bika 1{  je.
blind-DEF-PL HAB.NEG REFL see
“The blind do not see.’

4.7. Subject / Oblique Alternation

The only Mandika verb lending itself to the Subject / Oblique Alternation is tii
‘remain / leave’. Ti has transitive and intransitive uses related via the Causative /
Anticausative Alternation — Ex. (28a-b), but in addition to that, it is found in an
impersonal construction which has no equivalent with any other Mandinka verb, in
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which the 3rd person pronoun in subject function is a mere place-holder, and the
only participant is encoded as an oblique — Ex. (28c).

(28) a. Mus-6o0 ye dindip-o-lu ti  stw-o kéno.
woman-DEF PF.POS.TR child-DEF-PL leave house-DEF inside
‘The woman left the children in the house.’

b. Musu-kéebda fula ti-td saatéw-o to.
woman-old two remain-PF.POS.INTR village-DEF LOC
‘Two old women remained in the village.’

c. A ti-td jée musu-kéebda  fula (la).
3sG remain-PF.POS.INTR there woman-old two OBL
‘There remained two old women.’

The possible omission of the postposition marking the oblique argument of ti
used impersonally is exceptional in Mandinka syntax.

Functionally, the impersonal construction of ti is identical to English ‘there
remains x’ or French ‘il reste x’, but formally, the unique participant is
unambiguously in oblique position, whereas in most languages having functionally
similar constructions, inverted subjects move to object position. This may be related
to the fact that such impersonal constructions have been observed mainly in SVO
languages, whereas Mandinka is an SOVX language.

The existence of a presentational focus construction limited to a single verb
meaning ‘remain’ seems to be an areal phenomenon, since the same exceptional
behavior of a verb meaning ‘remain’ has been observed in several Atlantic
languages, i.e., in languages that have no close genetic relationship with Mandinka
but are spoken in the same area, for example Wolof (Sylvie Nouguier-Voisin, p.c.)
and Joola-Banjal (Basséne & Creissels 2011).

5. Valency operations involving a change in the verb stem
5.1. Antipassive Derivation

Mandinka has a suffix -ri (with the allomorph -diri in combination with stems
ending with a nasal) found exclusively with transitive verbs in constructions in
which the P argument is left unexpressed, cannot be identified to the referent of a
noun phrase included in the same construction, and is interpreted as non-specific.
This distribution makes it possible to analyze -ri as a valency operator of the
antipassive type. However, in other respects, -ri has properties quite unusual for an
antipassive marker, since with just one exception (démo ‘eat’), ri-forms cannot be
used as the verbal predicate of finite clauses, and the suffix -ri can be used only in
the following conditions:

— when the verb is used nominally as an event noun, as in (29c);
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—when the verb is used in a non-finite form expressing temporal simultaneity,
marked by a suffix -too, as in (30b);

- in agent nominalization, marked by a suffix -laa ~ -naa, as in (31b);

- in instrument nominalization, marked by a suffix -rap ~ -lap ~ -dap, as in (32b);

— in causative derivation (see Section 5.2).

(29) a.

(30) a.

(31) a.

(32) a.

1) nd mus-6o0  tuu-ri-t6o jé.

Mus-6o0 be maani-tiw-o la.

woman-D  COP rice-pound-D  OBL

lit. “The woman is at the rice-pounding.” — ‘The woman is pounding rice.’
(maani ‘rice’ saturates the P valency of tiiu ‘pound’, and the subject of the
copula is identified to the unexpressed A argument)

. Maan-6o0 be tuw-6 Ila.

rice-D cop pound-D OBL

lit. “The rice is at the pounding.” — ‘The rice is being pounded.’

(if none of the arguments of tiiu ‘pound’ is expressed, in the absence of the
antipassive suffix, the subject of the copula is identified to the unexpressed P
argument)

. Mus-6o be tuu-r-6o la.

woman-D COP pOllIld-ANTIP-D OBL

lit. ‘The woman is at the pounding. ANTIP.” — ‘The woman is pounding.’

(the antipassive suffix saturates the P valency of tiiu ‘pound’, and the subject
of the copula is identified to the unexpressed A argument)

D nd mus-60  maani-tuu-téo jé.

1sG PF.POS woman-D rice-pound-SIMULT see

‘T saw the woman pounding rice.’

2
.z

1sG  PF.POS woman-D pOllIld-ANTIP-SIMULT see
‘T saw the woman pounding.’

maani-tuu-lda b. tuu-ri-lda
rice-pound-AGNR pound-ANTIP-AGNR
‘person who pounds rice’ ‘person who pounds’
maani-tuu-rdn b. tuu-ri-ldy
rice-pound-INSNR pound-ANTIP-INSNR
‘rice-pestle’ ‘pestle’

With the only exception of démé ‘eat’, the antipassive form of Mandinka transitive
verbs cannot be used as the verbal predicate of clauses in which the A argument
only would be expressed, but it is commonly found in a functionally equivalent
antipassive periphrasis, in which the antipassive form of a transitive verb used
nominally is the object of ké ‘do’ — Ex. (33).
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(33) a. *Mus-6o0 ye O tuu. *Mus-60 tuu-ta
woman-D PF.POS  pound woman -D pound-PF.POS
Intended: ‘The woman pounded.’ — the first sentence is absolutely
impossible, and the only possible reading of the second one is ‘The woman
was pounded.’

b. Mus-6o0  ye tuu-r-6o ké.
woman-D  PF.POS  pound-ANTIP-D do
lit. ‘The woman did the pounding. ANTIP.” — ‘The woman pounded.’

D6mé ‘eat’ is the only Mandinka verb with which -ri has the usual behavior of
antipassive markers, i.e. yields a form used not only as an active action noun, but
also as an intransitive verb whose subject represents the agent — Ex. (34c).

(34) a. Dindin-o ye mbtiur-60 démo.
child-DEr PF.POS.TR bread-DEF  eat
‘The child ate the bread.’

b. Dindin-o ye démé-r-6o0  ké.
child-DEF ~ PF.POS.TR eat-ANTIP-DEF  do
‘The child ate.’

c. Dindin-o démo-ri-ta.
child-DEF ~ eat-ANTIP-PF.POS.INTR
same meaning as (b)

The cognates of this atypical antipassive suffix in other Manding varieties are
nominalization markers. They yield forms that can never be used as verbs, and they
cannot be analyzed as encoding patient demotion, since they may be used to mark
the nominalization of intransitive verbs, and their presence with transitive verbs
used as action nouns does not block the expression of the patient (see for example
Dumestre 2003: 74-5 on Bambara -li). However, a canonical antipassive suffix -ndi
probably cognate with these problematic Manding suffixes is found in Sooninke (a
language of the Western branch of the Mande family distantly related to Manding):
in Sooninke, -ndi converts transitive verbs into intransitive verbs assigning the same
semantic role to their subject, cf. Creissels 1991. Consequently, Mandinka -ri and its
cognates in other Manding varieties can be analyzed as reflexes of a former
antipassive suffix, but Mandinka is the only Manding dialect showing clear evidence
supporting this hypothesis.

5.2. Causative Derivation
When the input of Causative Derivation is an intransitive construction, the subject

of the non-derived verb is converted into the object of the causative verb, and a
causer is introduced in subject function — Ex. (35).
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(35) a. Dindin-o ld dendik-60 ndo-ta.
child-DEF ~ GEN  shirt-DEF get_dirty-PF.POS.INTR
‘The child’s shirt got dirty.’

b. Dindin-o yé a Ild dendik-60 né-ndi.
child-DEF  PF.POS.TR 3SG  GEN  shirt-DEF get_dirty-cAus
‘The child soiled his shirt.’

When Causative Derivation operates on a transitive construction, the general rule
(which suffers very few exceptions) is that the subject of the non-derived verb (the
causee in the causative construction) takes the object function, and the object of the
non-derived verb is converted into an oblique marked by the postposition ld -
Ex. (36).

(36) a. Dindin-o yé toofida  fo.
child-DEF  PF.POS.TR truth.DEF tell
‘The child told the truth.’

b. Kew-6 ye dindin-o  féo-ri-ndi toofida  la.
man-DEF PF.POS.TR child-DEF tell-ANTIP-CAUS truth.DEF OBL
‘The man made the child tell the truth.’

As illustrated by the examples above, Mandinka has two ways of marking
causative derivation:

—The simple causative suffix -ndi is typically used to causativize intransitive
constructions and to express relatively direct causation; it is however also used
with a few transitive verbs.

—The complex suffix -(di)ri-ndi , whose first formative can be identified as the
antipassive marker -(di)ri, is exclusively used to causativize transitive
constructions, and can only express indirect causation.

In the case of démé ‘eat’, the analysis of the causative form démdrindi as derived
from the antipassive form démdri ‘eat (intr.)’ is obvious, since this decomposition is
fully consistent with the syntactic properties of démori and démdrindi: -ri encodes the
demotion of the object, making it possible for the initial subject to move to object
position when a causer is introduced in subject position.

(37) a. Dindin-o démé-ri-ta.
child-DEr eat-ANTIP-PF.POS.INTR
‘The child ate.

b. Kew-6 ye dindin-o démé-ri-ndi (mbtur-éo la).
man-DEF PF.POS.TR child-DEF eat-ANTIP-CAUS  bread.DEF OBL
‘The man made the child eat (bread).’
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The analysis of -(di)ri-ndi as a complex suffix is less obvious with other verbs,
since the causative suffix -ndi attaches to verb stems, and démé ‘eat’ is the only
Mandinka verb whose antipassive form can be used in verbal predicate function (see
above).

Diachronically, the other Manding varieties provide no evidence helping to solve
this puzzle. They mark causative derivation by means of prefixes that are not
cognate with Mandinka -ndi, and do not have affixes available to encode the
causativization of transitive constructions. Moreover, as already commented in
Section 5.1, the cognates of Mandinka -ri in other Manding varieties show no
evidence of originating from a former antipassive marker. However, the
decomposition of -(di)ri-ndi as -(di)ri ANTIP + -ndi CAUS is strongly supported, in a
diachronic perspective, by comparison with Sooninke, since this language has a
canonical antipassive marker -ndi and a causative marker -ndi which are probable
cognates of Mandinka -ri and -ndfi respectively.

5.3. Postposition Incorporation

In Postposition Incorporation, the same argument can be encoded either as an
oblique in an intransitive construction, or as the object of a compound verb form
incorporating the postposition used to mark the same argument when it is encoded
as an oblique - ex. (38).

(38) a. Bdndiy-o-lii boyi-td jul-60-lu kan.
bandit-DEF-PL.  fall-PF.POS.INTR merchant-DEF-PL.  on
‘The bandits attacked the merchants (lit. fell on the merchants).’

b. Bdndiy-o-lu yé jul-60-lu boyin-kan.
bandit-DEF-PL.  PF.POS.TR merchant-DEF-PL.  fall-on®
‘The bandits attacked the merchants.’

Very few verbs lend themselves to this transformation. For example, it is possible
with nda ... tf ‘come with — bring’, but not with tda ... 7 ‘go with — carry’.

6. Valency classes
6.1. Class 1 (plain intransitive verbs)

The verbs grouped into this class have only intransitive uses. As a rule, they can
be transitivized by means of the causative suffix. Saa ‘die’ seems to be the only
exception to this rule. In addition to the verbs already mentioned in Sections 3.1.1
and 3.3.2 as illustrations of the intransitive and extended intransitive frames, this
class includes among many others the following verbs:

° The epenthetic segment -5- has been arbitrarily assigned to the preceding morpheme.
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x nig y bény = x meets y (ning = with)

x diyda = x is pleasant, x is easy, x diyaa y yé = y likes x

x fanti = x appears, x finti L = x goes out from somewhere

x kima = x speaks / sounds (produces a sound), x kiima y yé= x talks to y

x nda L = x comes somewhere, x nda yti 2 yé = xbringsytoz, xndaytiL = x
brings y somewhere

x sawtr, (L)= x jumps (somewhere)

x sii (y kdg) = x sits down (on y), x sii (L) = x lives somewhere

x siti, = x is ill-lucked

X saimaydaa = x is cold

x tha L = x goes somewhere, x tda y ti 2 yé = x carries ytoz, xtd4ay ti L = x
carries y somewhere

X tdunér = x sinks

6.2. Class 2 (plain transitive verbs)

For the verbs belonging to this class, an intransitive construction with a passive
reading constitutes the only alternative to the basic transitive (or extended
transitive) frame. In addition to the verbs already mentioned in Sections 3.2.1 and
3.3.1 as illustrations of the transitive and extended transitive frames, this class
includes among many others the following verbs:

xy bayi L = x chases y from somewhere

x y boy L= x pours y somewhere

xy bty = x stingsy, xy bay z 1= x aims at y with 2z, x throws z ony

x y bula, = x leaves y, x abandons y

x y basa, = x beats y, x hits y

xy deema = x hunts y

x y diminy = y feels pain in x, x causes y to feel pain)

x y farasi z b4ld = x tears y from z

x y fayi L =x throws y somewhere

x y fitd = x wipes y

x y fatdu = x marries y — x a man, y a woman

x y karap, = xreadsy

x y ké; L = x puts y somewhere

xy ké, L = x spends y somewhere, x y ké, z ti = x spends y doing z — y a time span

xykii zyé = xsends y to z, x y kii L = x sends y somewhere

x y kégkén L = x wipes y from somewhere

x y kimandi = x callsy, x y kaimandi z14 = xcallsyaz

x y kunti (z 14) = x cuts y (with 2)

x y laa, (z yé) = x tells y (to 2) — y a story

x y maa (z 1d) = x touches y (with 2)

x y muurd z 14 = x covers y with z

x y samba z yé = x brings y to z, x carries y to 2z, x y samba L = x brings y
somewhere, x carries y somewhere
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x y siti; (z bald) = x ties y (to 2)

X y s00 z kondé = x pours y into z

x y taa (z balt) = x takes y (from 2)
x y teyi, (z14) = x cuts y (with 2)
xy téolda z14 = x namesy z

6.3. Class 3

The verbs grouped into this class differ from those of Class 2 by the possibility of
two transitive constructions related via the Object / Oblique Permutation:

xy biti z14 ~ x z biti y t6 = x covers y with z, x puts z on y — y an opening
x y ddani z bilt ~ x z ddani y l4= x asks z for y

x y kara-ndi z yé ~ x z kara-ndi y l4= x teaches y to z

x y séfée z yé ~ x z safée y 14= x writesy to z

x y s6oli z kond ~ x z séoli y la= x crams y into z, x stuffs z with y

X y suuiida z buld ~ x z suunda y 14= x steals y from z

6.4. Class 4 (plain P-labile verbs)

The verbs grouped into this class have an intransitive construction and a
transitive construction related via the Causative / Anticausative alternation. They
cannot take the causative suffix used to causativize intransitive constructions, but
their transitive construction may be causativized by means of the complex suffix
-(di)ri-ndi (faa-rindi ‘make kill’, jani-rindi{ ‘make burn’, etc.).

x faa = x dies ~ xy faa = x killsy

x jani = x burns ~ x y jani = x burns y

x kati = x breaks ~ x y kati = x breaks y

x ké, = x happens, x occurs ~ x y ké; = x does y

x tard L= x is found somewhere, x tara y 14 = x is affected by y ~ xy tard L = x
finds y somewhere

X teyi; = x breaks ~ x y teyi; = x breaks y

X t L = x remains somewhere; x y tt L = x leaves y somewhere

The last verb of this list (&7 ‘remain / leave’) has the particularity of being the
only Mandinka verb having the ability to occur in an impersonal construction with a
subject de-topicalizing function — see 4.7.

6.5. Class 5 (plain A-labile verbs)

The verbs grouped into this class have an intransitive construction and a
transitive construction in which they assign the same role to their subject. Those of
them which lend themselves to causativization take the causative suffix typically
used to causativize intransitive verbs.
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In most cases, the alternative constructions of the verbs of Class 5 are related via
the Object / Oblique alternation, but a minority of them are involved in the Active /
Introversive alternation:

x baldy y ma z 14 ~ x z balany y m& = x refuses y 2, x denies y z

x biisa, y kan ~ x y btisd, = x falls violently on y

x diyaama = x speaks, x diyaami y 14 ~ x y diyaama = x discusses y

x jélé = x laughs, x jélé y 14 ~ x y jélé = x laughs at y

x kumbéo = x cries, x y kumbéo = x laments the loss of y

x sari = x screams, x sari y kdn = x shouts at y, x sari y ti ~ x y sari = x shouts y

x selé y sdnto ~ x y selé = x climbs up y

x teyi, y 14 ~ x y teyi, = x crosses y

x taling = x plays, x tdlapg y 14 ~ x y talag = x does not take y seriously, x
behaves frivolously towards y

x wiltu y 14 ~ x y wiltu = x gives birth to y

x y karap, = x learns y, x karar, = x learns a lot
xy16ng = x knows y, x 16y = x knows a lot
x y muti, = x acts on y, x mutd, = x takes effect

6.6. Class 6

This class is characterized by two possible transitive constructions, one related to
the intransitive construction according to the Object / Oblique Alternation
(characteristic of A-labile verbs), and the other related to the intransitive
construction according to the Causative / Anticausative Alternation (characteristic of
P-labile verbs). Minin ‘wind’ is the only verb I have found in this class.

x minin y 14 ~ x Refl minip) y 14 = x hugs y, x winds around y, x y minin = x
surrounds / encircle y, x y minin z 14 = x winds y around 2

6.7. Class 7

The verbs in this class can be labeled ‘semi-labile’. They participate in the
Causative / Anticausative Alternation, but to a limited extent only, since in the
transitive construction, their non-derived form is in competition with a
morphologically marked causative form. The precise conditions on the use of the
causative form vary according to the individual verbs, and it is impossible to
formulate a general rule accounting for all of them with precision, but the general
tendency is that the morphologically marked causative form tends to be preferred if
the agent exerts a relatively indirect manipulation, or if the patient has the ability to
control the process.

x b6 L = x leaves a place, x y b6 L ~ x y b6-ndi L = x takes off / removes y from
somewhere
x boyi = x falls, x y boyi ~ x y boyi-ndi = x makes y fall
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x bula, L = x settles oneself / boards somewhere, x y bula, L ~ x y bula-ndi L = x
puts y somewhere

x dun, L = x enters somewhere, x y diif); L ~ x y du-ndi L = x slips y somewhere,
x makes/lets y enter somewhere

xfaayld = xisfull of y, x y fAa z14 ~ x y fa-ndi z 14 = x fills y with z

x ké, y ti = x becomes y, xisy, x y ké, z ti ~ x y ké-ndi z ti = x makes z out of x, x
transforms y into z

x flori = x moves, x y fiori = x pushes y, x y flori-ndi = x causes y to move

x sawlrn, y 14 = y is infected by x — x an illness, x y sawitig, z 14 ~ x y sawu-ndi z
14 = x infects z with y — y an illness

x soté L = x is available somewhere, x y sot6 = x getsy, x has y, x y sot6 z bala =
x gets y from 2, x y soto-ndi z yé = x makes y available to z

x sunt = Xx is sad, x y suntt ~ x y sunu-ndi = x makes y sad

6.8. Class 8 (media tantum)

This class includes a few verbs occurring exclusively in the middle construction,
or having other constructions in marked contexts only, as discussed for sumtnda in
Section 2.6 (media tantum).

x Refl féoiondi = x rests
x Refl 1akara y 14 = x finishes y
x Refl sitmanaa = x urinates

6.9. Class 9

The few verbs grouped into this class are used intransitively or in the middle
construction, but have no transitive use.

x baltiu = x lives / survives, x Refl baltiu y 14 = x liveson y
6.10. Class 10

The verbs grouped into this class, like those of class 9, participate in the
Intransitive / Middle Synonymy. In addition to that, like the semi-labile verbs
grouped into class 7, they also participate in the Causative / Anticausative
Alternation, but only to a limited extent, having transitive uses in which the
causative form is required.

x bori ~ x Refl bori = x runs / moves quickly; = x runs; x y bori = x rides/drives
y; x y bori-ndi = x rides/drives y, x makes y run

x laa; (y kan) ~ x Refl 1aa, (y kan) = x lies down (onto y); x y 1aa, (z kan)) = x lays
/ loads / puts y (onto 2); x y 14-ndi (z kang) = x lays y (onto 2)

x 160 ~ x (Refl) 160 = x stands, x stops; x y 160 ~ x y lo-ndi = x builds y, x erects
Y, X puts y in standing position
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x maabdé y ma ~ x Refl mdabé y ma = x hides from y; x y mdabé z ma ~ x y
maabé-ndi z ma = x hides y from z

6.11. Class 11

The verbs grouped into class 11 differ from plain transitive verbs by their ability
to occur in a middle construction expressing a valency operation of the antipassive

type.

x y dug, z 14 = x dresses z in y, x puts y on z — y a piece of clothing; x y din, = x
dresses in y ; x Refl dup, = x dresses

xYyjé = xseesy; x Refl jé = x sees

x y miird ~ x Refl miira y t6 = x thinks about y

x y mingp ~ x Refl mif) y 14 = x drinks y

7. Conclusion

The following aspects of Mandinka morphosyntax play a crucial role in the
organization of the valency properties of Mandinka verbs and in their analysis:

—a particularly clear-cut distinction between transitive and intransitive
predications, and between core syntactic terms and obliques;

—a strict limitation of the number of core nominal terms in predicative
constructions to two;

— a total ban on null core arguments, either with an anaphoric or an arbitrary
reading, which makes equally unproblematic the recognition of A-labile and P-
labile verbs.

Mandinka has a middle construction whose relationship to transitive and
intransitive constructions involves cross-linguistically common mechanisms (such as
the ability to encode valency operations of the antipassive type), and the way
causativization is organized in Mandinka conforms to well-established cross-
linguistic regularities, but Mandinka shows an undeniable originality in some aspects
of valency grammar:

—In Mandinka, A-lability and P-lability are not mutually exclusive, since some
verbs can be used intransitively, without any morphological marking, with a
subject corresponding to any of the two core terms of the corresponding
transitive construction.

—Mandinka has many pairs of etymologically related verbs differing in their
behavior with respect to transitivity alternations and/or causativization. Pairs
such as teyi ‘cut’ / teyi ‘cross’, mutd ‘catch’ / mutd ‘act on’, kardy ‘read’ / kardn

‘learn’, busd ‘hit’ / busd ‘fall violently on’ provide particularly clear evidence of
the relevance of prototypical transitivity as discussed by Nass 2007, since the
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member of the pair standing closer to the transitive prototype is a plain transitive
verb, whereas the other is A-labile.

— Two semantic types of P-lability must be distinguished in Mandinka, manifested
in the Causative / Anticausative Alternation and in the Active / Passive
Alternation respectively; the Active / Passive Alternation applies across the board
to verbs that have the ability to occur in a transitive construction, whereas the
Causative / Anticausative alternation is a lexical property of individual verbs,
and is in competition with morphologically encoded Causative Derivation for a
class of ‘semi-labile’ verbs.

—Mandinka has a suffix encoding a valency operation which is clearly of the
antipassive type, but with the only exception of démé ‘eat’, it yields forms that
can be used as action nouns but not as verbal predicates.

- The suffix encoding the causativization of transitive constructions is a complex
suffix whose first formative can be identified as the antipassive suffix.

— Mandinka has an impersonal construction similar to the ‘presentational focus’
constructions attested among other in Romance and Bantu languages, which is
however limited to a single verb: tii ‘remain’.

Abbreviations

AGNR: agent nominalizer, ANTIP: antipassive, BEN: benefactive postposition, CAUS:
causative, Cl: clause, CTRP: centripetal, DEF: definite, DEM: demonstrative, ESS:
essive postposition, FOC: focalization, GEN: genitive, HAB: habitual, ID.COP:
identificational copula, INF: infinitive, INSNR: instrument nominalizer, IPF:
imperfective, L: noun phrase, postposition phrase or adverb encoding the ground in
a spatial relationship, LOC: locative postposition, LOC.COP: locative copula, N: noun
phrase, NEG: negative, O: object, OBL: postposition in oblique marker function, PF:
perfective, PL: plural, POS: positive, Postp: postposition, POT: potential, PSPH:
postposition encoding the meaning ‘within the personal sphere of, PST: past, Q:
interrogative particle; QUOT: quotative, REFL: reflexive pronoun, REL: relativizer,
RES: resultative, RU: reported utterance, S: subject, SG: singular, SIMULT: non-finite
verb form encoding simultaneity, TAM: tense-aspect-mood, V: verb, X: oblique.
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The Mandinka equivalents of the 70 verb meanings
in the questionnaire of the Leipzig Valency Classes Project

In this chart, each Mandinka verb is given with the coding frame corresponding to
the role frame put forward in the questionnaire, with the indication of its behavior
with respect to the causative/anticausative and object/oblique alternations, and with
some precisions about its behavior with respect to causativization / antipassivization
and in the middle construction.

The column ‘caus., antip.” specifies the possibility to attach directly to the verb
stem taken with the meaning indicated, either the causative suffix -ndi (typically
used to causitivize intransitive constructions) or the antipassive suffix -(di)ri
(excllusively used with transitive verbs). Remember that the verbs that have an
antipassive form can be causativized by attaching the causative suffix to the
antipassive form.

In the column ‘mid.’, ‘= intr.” indicates the possibility of a middle construction
synonymous with the intransitive construction of the same verb, whereas ‘antip.’
indicates the possibility of a middle construction with an antipassive function.

meaning label | Mandinka verb caus. obj. caus., mid.
/antic. | /obl. antip.
@D)] RAIN no equivalent Mandinka verb
(2) | BEDRY x jaa = xis dry - - caus.
(3) | BURN x jani = x burns + - antip.
(4) | SINK X tdunér = x sinks - - caus.
) ROLL same as RUN (22)
(6 BE A no equivalent Mandinka verb
HUNTER
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(7) | BEHUNGRY | x kéngké = x is hungry caus.
(8) | BESAD X sunu = x is sad caus.
(9) | DIE x sdaa = x dies
x faa = x dies
(10) | FEEL COLD no equivalent Mandinka verb
(11) | FEEL PAIN x y diminy = y feels pain in x
(12) | SCREAM Xx sari = x screams caus.
(13) | LAUGH x jélé (y 1a) = x laughs (at y) caus.
(14) | PLAY x talang (y 1) = x plays (with y) caus.
(15) | LIVE x sii L= x lives somewhere caus.
(16) | LEAVE x y buld = x leaves y antip.
17) | GO x tda L = x goes somewhere caus.
(18) | SING x ylda = x sings y
(19) | JUMP X sawtlr = x jumps caus.
(20) | SIT DOWN x sii (y kdn) = x sits down (on y) caus.
(21) | SIT same as SIT DOWN (20)
(22) | RUN x bori = x runs caus. = intr.
(23) | CLIMB x selé (y sénto) = x climbs caus.
(up y)
(24) | COUGH X toot6o = x coughs caus.
(25) | BLINK no equivalent Mandinka verb
(26) | SHAVE x y lii = x shaves y antip.
(27) | DRESS xydun z14 = x dresses z in y, antip.
X puts y on 2




Leipzig Valency Classes project: Mandinka (Denis Creissels) p. 33/84
(28) | WASH x y kliu = x washes y - antip.
(29) | EAT xydémé = xeatsy - antip.
(30) | HELP x y maakoyi = x helps y - antip.
(31) | FOLLOW x y bayindi = x follows y - antip.
(32) | MEET x nin y bény = x meets y - caus.
(nin = with, and)
(33) | HUG x minin y 14 = x hugs y + = intr.
(34) | SEARCH FOR | x y fiini()) = x searches for y - antip.
(35) | THINK x y miird = x thinks about y - caus. | antip.
(36) | KNOW x y 16n = x knows y 10 caus.
(37) | LIKE x y kant = x likes y - caus.
xlafiyla = x likes y - caus.
x diyaa y yé = y likes x - caus.
(38) | FEAR x silag y 14 = x fears y - caus.
(39) | FRIGHTEN x y sila-ndi = x frightens y - antip.
(caus. < sildy ‘fear’)
(40) | SMELL x y saimbt = x smells y - antip.
(41) | LOOK AT x y félé = x looks at y - antip.
(42) | SEE Xyjé = xseesy - antip.
(43) | TALK x kiima y yé= x talks to y - caus.
(44) | ASK FOR x y ddani z balt ~ x z ddani y - antip.
l4= x asks z for y
(45) | SHOUT AT | x sari y kdn = x shouts at y caus.
(46) | TELL xyf6zyé = xtellsytoz - antip.

1% Lép ‘know’ is not involved in the object/oblique alternation, but accepts a less common type of
transitivity alternation maintaining the semantic role of the subject: the active/introversive
alternation.
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xylaa (zyé) = x tells y (to z) — - -
y a story
(47) | SAY xaféyyéko . = xsays-‘ .’ - - antip.
tO y 11
(48) | NAME xy téolda z14 = x namesy z - - antip.
(49) | BUILD x y 160 = x builds y + - antip.
(50) | BREAK x y kati = x breaks y + - antip.
xy teyi = x breaks y + - antip.
(51) | KILL xyfaa = xkillsy + - antip.
(52) | BEAT x y btisd = x beats/hits y - - antip.
(53) | HIT same as BEAT (52)
(54) | TOUCH x y maa (z 1) = x touches y - -
(with 2)
(55) | CUT xy kunti (z14)= x cuts y - - caus.
(with 2)
(56) | TAKE x y taa (z balt) = x takes y - -
(from 2)
(57) | TEAR x y farasi z béla = x tears y - - antip.
from z
(58) | PEEL xy wéto = x peels y - - antip.
(59) | HIDE x y maabé z ma = x hides y -+ - antip. 2
from z
(60) | SHOW x y yita(ndi) z 14 = x shows y - - antip.
to z
(61) | GIVE xydiizlad = x givesy toz - - antip.
xys6zld = xgivesztoy - - antip.

' g is a cataphoric pronoun in object role, k¢ is the quotative marker.

12 Mdabé as a transitive verb is compatible with the antipassive suffix, but mdabé as an intransitive
verb expressing ‘hide (oneself)’ has a causative form more or less synonymous with mdaabd
(transitive)..
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(62) | SEND xykiizyé = xsendsyto z antip.

(63) | CARRY x tda y ti z yé = x carries y to 2 caus.

(64) | THROW x y bay z 14= x aims at y with z, antip.
x throws z on y
x y fayi L =x throws y antip.
somewhere

(65) | TIE x y siti (z bala) = x ties y (to 2) antip.

(66) | PUT xy ké L = x puts y somewhere antip.
xybuldL = xputsy antip.
somewhere
x y laa (z ka)) = x puts y (onto antip.
2)

(67) | POUR xy bony L= x pours y antip.
somewhere
xy s00 z koné = x pours y into antip.
Z

(68) | COVER X y maurd z l4 = x covers y antip.
with z
xybitizld ~xzbitiy to = x antip.
covers y with z

(69) | FILL xy fa-ndi z 14 = x fills y with z antip.
(caus. < fda ‘be full’)

(70) | LOAD same as PUT (onto) (66)
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Mandinka verb sample

x balan y ma z 14 ~ x z balay) y m& = x refuses y z, x denies y z

a. Mus-6o  bdldn-td kew-6 ma dontor-oo la.
woman-DEF refuse-PF.POS man-DEF OBL loan-DEF OBL
‘The woman refused the man a loan.’

b. Muij ne yé mus-60  bdld-ndi déntér-6o la?
what FOC PF.POS woman-DEF refuse-CAUS loan-DEF OBL
‘Why did the woman refuse the loan?’
lit. ‘What made the woman refuse the loan?’

¢. Poliis-60-lu ye sil-6o  baldy mdo-lu la.
policeman-DEF-PL PF.POS  way-DEF refuse  person.DEF-PL  OBL
‘The policemen did not let the people pass.’
lit. “The policemen refused the people the way.’

x baltiu = x lives / survives
x Refl baltu y 14 = x lives on y

a. Baramatoo té baluu-la.
injured_person.DEF COP.NEG live-INF
‘The injured person will not survive.’

b. Moo  jdamda ka i bdliiu sen-6o le ld japy.
person many HAB.POS REFL live farming-DEF FOC OBL here
‘Many people live on farming here.’
The causative form bdlii-ndi has the lexicalized meaning ‘feed’.
c. Mus-60 ka deenaan-60 bdlu-ndi ninsi-nén-6o la.
woman-DEF HAB.NEG baby-DEF live-caus cow-milk-DEF  OBL
‘The woman feeds the baby on cow milk.’
— Bdluu is not used to express ‘live somewhere’. On ‘live somewhere’, see sii.
x y bayi L = x chases y from somewhere
Kew-6 ye wul-60 bdyi stw-o kéno.

man-DEF PF.pOS  dog-DEF chase house-DEF inside
‘The man chased the dog from the house.’
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x y bayindi = x follows y

Bdyindi is a lexicalized causative. Formally, it derives from bdyi ‘chase’ via the
addition of the CAUS suffix, but bdyi and bdyindi have exactly the same syntactic
properties, and the difference in meaning cannot be related to any general semantic
property of regular causative verbs.

Kew-6 ye stnktt-60 bdyindi.
man-DEF PF.POS  girl-DEF follow
‘The man followed the girl.’

x nig y bén,; = x meets y

Nin is a comitative preposition occurring in the ‘associative construction’, which
superficially resembles NP coordination but does not show the behavior typical of
constructions expressing coordination, and is clearly comitative in its semantics.
There is no possibility to express y either as an object or an oblique. Bép is a verb
with an inherently reciprocal meaning, which in particular implies that it selects
subjects referring to plural entities. See tard for another possible equivalent of
‘meet’.

a. Kew-6 nin supkiit-6o ben-ta.
man-DEF with girl-DEF meet-PF.POS
‘The man met the girl.’

b. Saatee-moéo-lu ben-ta.
village-person.DEF-PL. meet-PF.POS
‘The villagers gathered.’

c. Alikdal-6o0  ye saatee-moo-lu be-ndi.
chief-DEF PF.POS  village-person.DEF-PL. meet-CAUS
‘The chief gathered the villagers.’

d. Saatee-méo-lu be-ndi-ta.
village-person.DEF-PL. meet-CAUS-PF.POS
‘The villagers were gathered.’

x y bén, = x wanders round y — y a place
Kew-6 ye bank-60 bée ben.

man-DEF PF.POS  country-DEF all  wander_round
‘The man wandered round the whole country.’
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x y biti 214 ~ x z biti y t6 = x covers y with 2, x puts z on y — y an opening

a. Kew-6 ye a dda bitt.. a bul-6o la.
man-DEF PF.POS 3sG mouth.DEF cover 3sG hand-DEF OBL
‘The man put his hand on his mouth.’

b. Kew-6 ye a  biul-6o biti a  dda to.
man-DEF PF.POS 3sG hand-DEF put 3SG mouth.DEF OBL
‘The man put his hand on his mouth.’

x b6 = x goes out / appears

x b6 L = x leaves a place

xy bé L = x takes off / removes y from somewhere

xy b6-ndi L = x takes off / removes y from somewhere

p. 38/84

In the absence of an oblique referring to a place, b6 encodes movement from a
closed space (‘go out’ or ‘appear’). In combination with an oblique referring to a
place, it is not limited to this meaning, and constitutes the most general and neutral

way of expressing a movement whose source is specified.

a. Kulliimaar-60  bé-ta.
rainbow-DEF g0_out-PF.POS
‘A rainbow appeared.’

b. Kew-6 bé-td saatéw-o to.
man-DEF leave-PF.pOS village-DEF LOC
‘The man left the village.’

c. Kew-6 ye a ld dendik-60 bo.
man-DEF PF.POS 3SG GEN shirt-DEF take_off
“The man took off his shirt.’

d. Kew-6 ye pdnin-o  bo-ndi a sip-6 kono.
man-DEF PF.POS  thorn-DEF  go_out-CAUS 3sG  foot-DEF inside
‘The man removed the thorn from his foot.’

xy boy L= x pours y somewhere

a. Kew-6 ye jiy-o bon bank-6o to.
man-DEF PF.POS water-DEF pour gI‘OUIld-DEF LOC
‘The man poured the water on the ground.’

b. Jiy-o bon-td banpk-60 to.
water-DEF  pour-PF.POS ground-DEF LOC
‘The water has been poured on the ground.’
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— another verb - sdo - is used for ‘pour into a container’

x bori = x runs, x moves quickly (rolls, etc.)
x Refl bori = x runs

x y bori = x rides/drives y

x y bori-ndi = x rides/drives y, x makes y run

The default interpretation of bori is ‘run’, but depending on the context, this verb
can be used to denote any kind of relatively quick movement (rolling, etc.).

a. Dindin-o bori-ta.
child-DEF ~ run-PF.POS

‘The child ran (away).’

b. Dindip-o ye i bori.
child-DEF  PF.POS REFL run

‘The child ran (away).’

c. Kdt-0o bori-td bapk-6o0  kapn.
ball-DEF run-pF.pOS ground-DEF on
‘The ball rolled on the ground.’

Bori is used transitively in the specialized meaning ‘ride (a horse or a donkey),
drive (a vehicle)’ only, and even in this meaning, the causative form bori-ndi (also
used with the meaning ‘make run’) can be used too.

d. Kew-6 ye suw-o bori.
child-DEF  PF.POS  horse-DEF  ride
‘The man rode the horse.’
e. Kew-6 ye suw-o bori-ndi.
child-DEF  PF.POS  horse-DEF  run-CAUS
‘The man rode the horse.” or ‘The man made the horse run.’

x boyi = x falls
x y boyi = x makes y fall
x y boyi-ndi = x makes y fall

Both boyi and boyi-ndi are found in transitive constructions expressing ‘make fall’.
The criterion for choosing between the non-derived and the causative form remains
unclear.

a. Yir-6o boyi-td  bank-6o kan.
tree-DEF fall-PF.POS  ground-DEF on
‘The tree fell on the ground.’
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b. Kew-6 ye yir-6o boyi.
man-DEF PF.POS  tree-DEF fell
“‘The man cut down the tree.’

c. Kew-6 ye yir-6o boyi-ndi.
man-DEF PF.POS  tree-DEF fall-cAUS
“‘The man cut down the tree.’

In combination with the postposition kdn, boyi expresses ‘attack’, and this
construction lends itself to Postposition Incorporation.

x boyi y ki) ~ x y boyin-karn = x attacks y

d. Bdndiy-o-lii boyi-td  jul-60-lu kan.
bandit-DEF-PL.  fall-PF.POS merchant-DEF-PL.  on
‘The bandits attacked the merchants (lit. fell on the merchants).’

e. Bdndiy-o-lu yé jul-60-lu boyin-kan.
bandit-DEF-PL.  PF.POS  merchant-DEF-PL  fall-on'3
‘The bandits attacked the merchants.’

x bula,; L = x settles oneself / boards somewhere

x buld, y néoma = x follows y (lit. settles oneself on the track of y)
x y buld, L = x puts y somewhere

x y bula-ndi L = x puts y somewhere

x y bula, z14 = x makes y do 2

a. Kew-6 bula-ta  kuliin-o kéno.
man-DEF settle-PF.POS ship-DEF inside
‘The man boarded the ship.’

Both buld, and bula-ndi are found in transitive constructions expressing ‘put
something somewhere’. The criterion for choosing between the non-derived and the
causative form remains unclear.

b. Kew-6 ye sub-6o buld kuf-60 kéno.
man-DEF PF.POS  meat settle bag-DEF inside
‘The man put the meat into the bag.’

c. Kew-6 ye 6o bula-ndi saréet-60 kono.
man-DEF PF.POS  wood settle-CAUS cart-DEF inside
‘The man loaded the wood into the cart.’

13 The epenthetic segment -7j- has been arbitrarily assigned to the preceding morpheme.
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The causative form bula-ndi ‘put’ lends itself to the active/passive alternation -
Ex. (d), and can be further causativized by attaching the causative suffix to its
antipassive form — Ex. (e).

d. Léo bula-ndi-ta saréet-60 kono.
wood settle-CAUS-PF.POS cart-DEF inside
‘The wood was loaded into the cart.’

e. Kew-6 ye kambaan-6o bula-ndi-rindi l6o la saréet-60 kono.
man-DEF PF.POS  boy-DEF settle-CAUS-ANTIP-CAUS wood.D OBL  cart-DEF inside
‘The man made the boy load the wood into the cart.’

The combination of buld, with an oblique headed by the postposition néoma is a
possible way of expressing ‘follow’ — Ex. (f).

f. Kew-6 bula-ta  stnkit-6o nooma.
man-DEF settle-PF.POS girl-DEF on_the_track
‘The man followed the girl.’

Buld, is also productively used as a causative operator in a periphrasis expressing
indirect causation — Ex. (g).

g. Kew-6 ye kambaan-6o buld dookuw-o to.
man-DEF PF.POS  boy-DEF settle work-DEF  LOC
‘The man made the boy work (lit. settled the boy at work).’

Note also the use of buld, ‘settle’ in the following idiom:
x hakili bula y Id = x remembers y (lit. ‘x’s mind is settled at y’)
h. Kew-6 hdkil-6o bula-td  kambaan-éo la.
man-DEF mind-DEF  settle-PF.POS boy-DEF OBL
‘The man remembered the boy.’
i. Mus-6o0 ye kew-6 hdkil-6o bula-ndi kambaan-é6o la.
woman-DEF PF.POS  man-DEF mind-DEF  settle-CAUS boy-DEF OBL
‘The woman reminded the man of the boy.’
x y bula, = x leaves y, x abandons y
a. Kew-6 ye saatéw-o bula.

man-DEF PF.pOS  village-DEF leave
‘The man left the village (= does not live in the village anymore).’
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b. Kew-6 ye dol-60 bula.
man-DEF PF.POS  wine-DEF leave
‘The man stopped drinking (lit. left the wine).’

xy bap z14 = x throws z on y, x aims at y with 2, x shoots y with 2z
x y bt = x stings y

a. Kambaan-6o ye palantéer-60 btin ber-6o la.
boy-DEF PF.POS  window-DEF  shoot stone-DEF  OBL
‘The boy threw the stone into the window.’

b. Kumburiin-o ye dindin-o  bun.
bee-DEF PF.POS  child-DEF  sting
‘A bee stung the child.’

x y basa, z 14 = x beats y with z, x hits y with z

Mandinka has several possible equivalents of ‘hit’ or ‘beat’. Biisd has been selected
as expressing ‘beat’ or ‘hit’ without any additional shade of meaning or restriction on
the nature of the participants. ‘Hit’ and ‘beat’ are normally not distinguished, but
iterativity can optionally be specified by using the reduplicated form busdmbtisar.

a Kambaan-6o ye sda bisd  fdl-6o la.
boy-DEF PF.POS  snake.DEF  hit stick-DEF OBL
‘The boy hit/beat the snake (with a stick).’

b. Kew-6 ye tiy-60 bisa.
man-DEF PF.POS  peanuts-DEF  hit
‘The man threshed the peanuts.’

c¢. Tiy-60 bisd-ta.
peanuts-DEF hit-pF.POS
‘The peanuts have been threshed.’

x busa, y kan ~ x y btisa, = x falls violently on y

a. Samda ye bank-60  busa.
rain.DEF PF.pOS  ground-DEF fall violently_on
‘The rain fell on the ground violently.’

b. Samda bisd-td bank-60  kan.
rain.DEF fall violently-PF.POS  ground-DEF on
‘The rain fell on the ground violently.’
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x y btistiu = x skins y

b. Kew-6 ye saajiy-o  btsuu.
man-DEF PF.POS  sheep-DEF  skin
‘The man skinned the sheep.’

c. Sagjiy-o  bistiu-ta.
sheep-DEF  skin-PF.POS
‘The sheep has been skinned.’

x y ddani z bild ~ x z ddani y 14=x asks z for y

a. Kambaan-6o ye kew-6 ddani kéd-60 la.
boy-DEF PF.POS  man-DEF ask money-DEF OBL
‘The boy asked the man for money.’

b. Kambaan-éo ye kéd-60 ddani kew-0 bulu.
boy-DEF PF.POS  money-DEF ask man-DEF PSPH
‘The boy asked the man for money.’

x y dddda = x makes y, x repairs y

a. Kew-6 ye laardn-o  dddaa.
man-DEF PF.POS  bed-DEF make/repair
‘The man made a bed.” or “The man repaired the bed.’

b. Laardn-o dddda-ta.
bed-DEF make,/repair-PF.POS
‘The bed has been made.’ or ‘The bed has been repaired.’

— Dddda is fully productive in the meaning ‘repair’, whereas in the meaning ‘make’,
more specific verbs tend to be preferred, as illustrated by Ex. (c).

c. Kew-6 ye yiri-jiiw-o lésé juwdan-6o0  ti.
man-DEF PF.POS tree-trunk-DEF carve canoe-DEF OBL
‘The man made a canoe out of the tree trunk.’
lit. “The man carved the tree trunk into a canoe.’

dahaa ‘rest, stop doing something’ is synonymous with fé6ié(ndin) and occurs in
the same constructions

x y dasa = y is short of x
x dasa = x is running short
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a. Kéd-6o ye kew-6 ddsa.
money-DEF PF.POS  man-DEF be_insufficient for
‘The man is short of money.’

b. Kod-60 ddsd-td le.
money-DEF be_insufficient PF.POS FOC

‘Money is running short.’

xy deema = x hunts y

p. 44/84

Deemd is one of the few transitive verbs that are used as action noun without the

antipassive suffix -ri- even if no specific patient is mentioned — Ex. (b).

a. Kew-6 ye mindn-o  deema.
man-DEF PF.POS  deer-DEF hunt
‘The man hunted deer.’

b. Kew-0 ka deem-60 ke.
man-DEF HAB.POS hunting-DEF do
‘The man hunts (habitually).’

deemaa ‘help’ is synonymous with maakdyi and occurs in the same constructions

xydiizlad = x givesy to z

a. Karamméo ye kitdab-60 dii kambaan-éo la.
teacher.DEF PF.POS  book-DEF  give boy-DEF OBL
‘The teacher gave the book to the boy.’

b. Kitdab-60 dii-td kambaan-éo la.
book-DEF  give-PF.POS boy-DEF OBL
‘The book was given to the boy.’

x y diminy = y feels pain in x, or x causes y to feel pain
x y dimi-ndi = x causes y to feel pain

Diming ‘hurt’ has a form including the CAUS suffix whose use does not imply any
apparent valency change. As illustrated by Ex. (b-c), the choice between dimi(n) and
the causative form dimi-ndi in the expression of ‘cause to feel pain’ seems to depend,
either on the nature of the term in subject function, or on an aspectual distinction.

a.l) biléo le ka 0 dimin.
1SG arm-DEF FOC HAB.POS 1SG hurt
‘My arm is hurting.’
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b. Nip kin-éo si {  kén-6o  dimin.
DEM food-DEF POT 2SG stomach-DEF  hurt
‘This food may hurt your stomach.’

c. A ye n bul-6o dete fo a ye 7 dimi-ndi
3sG PF.POS 1SG arm-DEF squeeze until 3sG PF.POS 1sG hurt-cAUS

‘He squeezed my arm to the extent that he hurt me.’

x diyda = x is pleasant, x is easy
x diyaa y ye = y likes x

p. 45/84

The basic meaning of this verb, cognate with the adjective diimda ‘pleasant’,
‘easy’, is ‘be pleasant’, ‘be easy’; in combination with the benefactive postposition yé,

it constitutes a possible (and very common) counterpart of ‘like’.

Nin bdy-60  diyda-td mus-6o  ye.
DEM cloth-DEF  be_pleasant-PF.POS woman-DEF BEN
‘The woman likes this cloth.’

x diyaamua = x speaks
x diyaama y 14 ~ x y diyaamt = x discusses y

a. Kambaan-6o ka diyaamu sdnto.
boy-DEF HAB.POS speak on_top
‘The boy speaks loud.’

b. Kew-6-lu diyaamu-ta kiiw-o la.

man-DEF-PL Speak-PF.POS matter-DEF OBL
‘The men discussed the matter.’

c. Kew-6-lu ye kiiw-o diyaamu.
man-DEF-PL  PE.POS matter-DEF Speak

‘The men discussed the matter.’

xydémé = xeatsy

D6émé ‘eat’ is characterized by a particular behavior of the suffix -ri, which has no

equivalent with any other Mandinka verb - see 5.1.

a. Dindin-o ye mbtiur-6o0 démo.
child-pDEF  PF.POS  bread-DEF eat
‘The child ate the bread.’

b. Mbuiur-6o0 domo-ta.
bread-DEF  eat-PF.POS
‘The bread was eaten.
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c. Dindin-o ye démé-r-6o  ke.
child-DEF  PF.POS  eat-ANTIP-DEF do
‘The child ate.’

d. Dindin-o démé-ri-ta.
child-DEr eat-ANTIP-PF.POS
‘The child ate.’

e. Kew-6 ye dindin-o  démé-ri-ndi mbtiur-60 la.
man-DEF PF.POS  child-DEF eat-ANTIP-CAUS bread-DEF  OBL
‘The man made the child eat the bread.’

x diy, L = x enters somewhere
x y dun, L = x slips y somewhere, x makes/lets y enter somewhere
x y du-ndi L = x slips y somewhere, x makes/lets y enter somewhere

a. Wul-60 dun-ta bin-o kono.
dog-DEF enter-PF.POS room-DEF  inside
‘The dog came into the room.’

b. Kew-6 ye batday-6o dun kiilda bulu.
man-DEF PF.POS  letter-DEF  enter messenger.DEF PSPH
‘The man handed the letter to the messenger.’

c. Kew-6 ye wul-60 du-ndi bin-o kono.
man-DEF PF.POS  dog-DEF enter-CAUS room-DEF inside
‘The man let the dog come into the room.’

This verb is also used in meteorological expressions, with a noun referring to a
meteorological phenomenon in subject function.

d. Nén-6o dun-ta.
cold-DEF enter-PF.POS
‘It is cold’ in the sense of ‘The weather got cold.’ lit. “The cold entered.’

xy dup, z 14 = x dresses z in y, x puts y on 2 — x a piece of clothing
x y durg, = x dresses in y
x Refl dun, = x dresses

In the absence of an oblique specifying the person being dressed, the default
interpretation of this verb is ‘dress oneself’.

As a transitive verb, diip, ‘put on’ requires the presence of an object. The use of
fén-o-lu ‘things’ (interpreted in this context as ‘clothing’) in object function is a
possible strategy to avoid specifying the object — Ex. (b) & (d), but the middle
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construction (Antipassive Middle) provides another possible strategy is the intended
meaning is ‘dress oneself’ —-Ex. (e).

a. Mus-6o ye kurut-6o dun dindin-o la.
woman-DEF PF.POS  trousers-DEF put.on child-DEF  OBL
‘The woman put trousers on the child.’

b. Mus-6o0  ye fén-o-li  dup dindin-o la.
woman-DEF PF.POS  thing-DEF-PL put.on child-DEF  OBL
‘The woman dressed the child.’

c. Dindin-o yé kurut-6o  dun.
child-DEF  PF.POS  trousers-DEF put_on
‘The child put on trousers.’

d. Dindin-o yé a la fépg-o-i dun.
child-DEF ~ PF.POS  3sG GEN thing-DEF-PL put_on
‘The child dressed (lit. put on his things).’

e. Dindin-o ye i dun.
child-DEF ~ PF.POS  REFL put_on

“The child dressed.’

f. Mus-6o ye dindin-o  dun-diri-ndi kurt-6o la.
woman-DEF PF.POS  child-DEF  put_on-ANTIP-CAUS trousers-DEF OBL
‘The woman made the child put on trousers.’

x faa = x dies
x y faa (z1a) = x kills y (with 2)

The Active / Passive Alternation is in principle productive with verbs that have
transitive uses, irrespective of the other alternations they may be involved in. In the
particular case of fda, speakers avoid using this verb intransitively with a passive
meaning, and killing events with an unspecified agent are rather encoded by means
of a transitive construction with the 3rd person plural pronoun in subject function —
Ex. (c). It is however possible to find fda used intransitively with a passive meaning,
in contexts triggering a passive interpretation — Ex. (d).

a. Kambaan-6o ye sda fda fan-6 la.
boy-DEF PF.POS  snake.DEF kill cutlass-DEF OBL
‘The boy killed the snake (with a cutlass).’

b. Sagjiy-o  faa-ta.
sheep-DEF  die-PF.POS

‘The sheep died.’



Leipzig Valency Classes project: Mandinka (Denis Creissels)

C.

€.

I yé sagjiy-o  faa.
3pL  PF.POS  sheep-DEF kil

‘They killed the sheep.” or ‘The sheep was killed.’

.Jannip i kd deenaan-60 téo fo,

before 3pL HABP baby-DEF name.DEF  tell
‘Before telling the name of the baby,

sagjiy-o  foléo le kd faa.
sheep-DEF  first FOC HABP Kill

the sheep is killed first.’

Kew-6 ye a dip-o faa-rindi  saajiy-o

la.

man-DEF PF.POS  3SG son-DEF Kkill-ANTIP-CAUS sheep-DEF  OBL

‘The man made his son kill the sheep.’

x faa y 14 = xis full of y
xyfaa z1a = x fills y with 2
xy fa-ndi z 14 = x fills y with z

p. 48/84

As illustrated by Ex. (b), fda can be used transitively with the subject referring to
a substance occupying a place, but not to an agent.

a.

Dink-60  fda-td jiy-o la.
hole-DEF be_full-pF.POS water-DEF  OBL
‘The hole is full of water.’

. Jiy-o yé dink-60  fda.

water-DEF  PF.POS  hole-DEF fill
‘The water filled up the hole.’

. Kew-6 ye boot-60  fd-ndi maan-60
man-DEF PF.POS  bag-DEF be_full-caus rice-DEF
‘The man filled the bag with rice.’

. Boot-60  fd-ndi-td maan-6o la.
bag-DEF be_full-cAus-PF.POS rice-DEF OBL
‘The bag was filled with rice.’

Kew-6 ye a dip-o fd-ndi-ri-ndi

man-DEF PF.POS 3SG son-DEF be_full-CAUS-ANTIP-CAUS
‘The man made his son fill the bag.’

Kew-6 ye a dip-o fd-ndi-ri-ndi

la.
OBL

boot-bo la.
bag-DEF OBL

maan-6o la boot-60

man-DEF PF.POS  3SG son-DEF be_full-CAUS-ANTIP-CAUS rice-DEF  OBL bag-DEF

‘The man made his son fill the bag with rice.’

kono.
inside
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x faji = x boils

a. Jiy-o fdji-ta.
water-DEF  boil-PF.POS
‘The water boiled.’

b. Mus-6o0  ye jiy-o fdji-ndi.
woman-DEF PF.POS  water-DEF  boil-CAUS

‘The woman boiled the water.’

x y farasi z bald = x tears y from z

a. Kambaan-6o ye léerijdmb-60 fdrdsi kitdab-60 bdla.
boy-DEF PF.POS  page-DEF tear book-DEF  CONT

‘The boy tore the page from the book.’
b. Léerijamb-60 fdrdsi-td kitdab-60 bdla.
page-DEF tear-pF.POS bOOK-DEF  CONT

‘The page was torn from the book.’

x y fayi L =x throws y somewhere

Kambaan-6o ye ber-60 fayi  palantéer-6o kan.
boy-DEF PF.POS  stone-DEF  throw  window-DEF  on

‘The boy threw the stone into the window.’
x y félé = x looks at y

Kew-6 ye kambaan-6o féle.
man-DEF PF.POS  bOy-DEF look
‘The man looked at the boy.’

x y fitd = x wipes y

Fita ‘wipe, sweep’ can only be used in a construction in which the object refers to
a surface from which something is removed. Another verb — kénkdny — must be used if
the thing being removed is mentioned.

Stnktut-6o  ye tdabtil-60 fita.
girl-DEF PF.POS  table-DEF  wipe
‘The girl wiped the table.’
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xy f6 z yé = x tells y to 2, x talks to z about y
xafézyékd‘y = xsays‘y toz
xy fé6 = x speaks y — y a language

a. Kew-6 ye toofida  fo  kambaando ye.
man-DEF PF.pOS  truth-DEF  tell boy-DEF BEN
‘The man told the truth to the boy.’

b. Toofida  fo-td kambaanéo ye.
truth-ber  tell-pPF.POS  boy-DEF BEN
‘The truth was told to the boy.’

c. Mus-6o ye kew-6 féo-ri-ndi toofida la  kambaando ye.
woman-DEF PF.POS  man-DEF tell-ANTIP-CAUS truth-DEF  OBL  boy-DEF BEN
‘The woman made the man tell the truth to the boy.’

d. Mus-6o0 man féy f6  supkitéo ye.
woman-DEF PF.NEG thing say  girl-DEF BEN
‘The woman said nothing to the girl.’

e. Nif kew-6 ka Mandinka-kdn-o fé.
DEM man-DEF HAB.POS Mandinka-language-DEF speak
‘This man speaks Mandinka.’

The meaning ‘talk about someone or something’ can be expressed by a
construction in which the object function is fullfilled, either by the name of the
entity talked about — Ex. (f), or by a genitival construction headed by kimd ‘word,
story’ or kibdari ‘news — Ex. (g-h). Note that, contrary to kiumd, kibdari does not
require the postposition ld to mark its genitival dependent; in principle, this
distinction has to do with ‘alienability’, but it is not clear why kiimd, but not kibdar,
shoud be ‘alienably’ possessed.

f. Kew-6 ye kambaan-60 f6 mus-6o ye.
man-DEF PF.POS  boy-DEF tell woman-DEF BEN
‘The man talked to the woman about the boy.’

g. Kew-6 ye kambaan-6o la  kim-60 f6 ~mus-6o ye.
man-DEF PF.POS  boy-DEF GEN word-DEF  tell ~woman-DEF BEN
‘The man talked to the woman about the boy.’

h. Kew-6 ye kambaan-6o kibdar-60 fo  mus-6o  ye.
man-DEF PF.POS  boy-DEF news-DEF  tell woman-DEF BEN
‘The man talked to the woman about the boy.’

For reported speech, Mandika uses the quotative marker kd, either alone, as in Ex.
(i-j), or combined with a verb of speech, e.g. fd, as in Ex. (k). When f6 is used, the
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reported utterance occurs in sentence final position, represented by a 3rd person
pronoun in cataphoric function occupying the object position in the construction of

£6.

i. Kew-6 ko  ‘hant’.
man-DEF QUOT no
‘The man said ‘no’.’

j. Kew-6 ké kambaan-6o ye ké  ‘hant’.
man-DEF QUOT bOy-DEF BEN QUOT no
‘The man said ‘no’ to the boy.’

k. Kew-6 ye a f6 kambaan-6o ye k6 ‘hani’
man-DEF PF.POS 3SG say boy-DEF BEN QUOT no
‘The man said ‘no’ to the boy.’

Note that another verb - lda - is used for ‘tell a story’.

x Refl féiéndin = x rests
x Refl f6116 y 14 = x stops dealing with y

Etymologically, féfidndin is the diminutive form of fofid ‘rest, stop’, but speakers tend
to use foné with the meaning ‘stop dealing with something’, and féfiéndin with the
meaning ‘rest’.

a. Kewo ye i  foniondin.
man-DEF PF.POS REFL rest
‘The man had a rest.’

b. Mus-60 ye i  fonoé béor-60 diy-o la dindinp-o Ila.
man-DEF PF.POS  REFL stop medecine-DEF give-DEF OBL child-DEF  OBL
‘The woman stopped giving the medecine to the child.’

x fanti = x appears
x fanti (L) = x goes out (from) somewhere

a. Mus-6o0  funti-td biin-o kéno.
woman-DEF go_out-PF.POS room-DEF  inside
‘The woman went out from the room.’

b. Moéo-lu funti-td sil-60-lu kan.
people.DEF-PL  g0_Out-PF.POS  street-DEF-PL  on
‘The people went out on the streets.’
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c. Kdr-6o0  funti-ta.
moon-DEF g0_Oout-PF.POS
‘The moon appeared.’

B6 and funti are used interchangeably as intransitive verbs encoding movement
from a closed space (‘go out’ or ‘appear’), but bé has other uses it does not share
with finti, whereas funti (but not bd) is ambiguous with respect to the distinction
between source and destination of movement. Moreover, bé and fiinti behave
differently with respect to causativization: fiinti is a strictly intransitive verb, and the
causative form fiinti-ndi must be used in order to express ‘take out’, ‘extract’, whereas
bé has transitive uses, although to a very limited extent.

d. Kew-6 ye mur-6o0  funti-ndi boot-60 kéno.
man-DEF PF.pOS  knife-DEF  go_out-CAUS  bag-DEF inside
‘The man took the knife out of the bag.’

x y fatdu = x marries y — x a man, y a woman
x fattu y ye = x marries y — x a woman, y a man

a. Kew-6 ye stpkut-6o fiituu.
man-DEF PF.POS  girl-DEF marry
‘The man married the girl.’

b. Stnkiit-60 futiu-td kew-6 ye.
girl-DEF marry-PF.POS  man-DEF BEN
‘The girl married the man.’

A causative can be derived from fiituu (futii-ndi), but it implies coercition (‘force
someone to marry’), and does not express simply ‘x marries y to 2.
On the expression of ‘x marries y to 2’, see nii.

x jda = xis dry

a. Dendik-60 jaa-td til-é6o la.
shirt-DEF be/become_dry-PF.POS  sun-DEF OBL
‘The shirt dried up in the sun.’

b. Til-6o0 ye dendik-60 ja-ndi.
Sun-DEF PF.POS  shirt-DEF be/become_dry-caus
‘The sun dried up the shirt.’

x japkari = x falls ill
Mandinka has three verbs expressing ‘fall ill’: japkdri, kuurdn, and saasda. The

three of them are plain intransitive verbs from which a causative verb can be
derived by means of the CAUS suffix.



Leipzig Valency Classes project: Mandinka (Denis Creissels)

a. Kew-6 jankdri-ta.
man-DEF fall_ill-PF.POS
‘The man fell ill.’

b. Démori-jaw-6o ye kew-6 japkari-ndi.
food-bad-DEF PF.POS man-DEF fall ill-cAus
‘The bad food made the man ill.’

x jani = x burns
xyjani = x burnsy

a. Saatéw-o jani-ta.
village-DEF burn-PF.POS
‘The village burned.’ or ‘The village was burnt.’

b. Jaw-6o-lu  yé saatéw-o jani.
ennemy-DEF-PL PF.POS  villageDEF burn
‘The ennemies burned the village.’

Mandinka uses another verb (mdld) in the context ‘The fire burns’.

Xyjé = xseesy
x Refl jé = x sees

a. Kew-6 ye kambaan-éo je.
man-DEF PF.POS  boy-DEF see
‘The man saw the boy.’

b. Kambaan-60 jé-td bda ddala.
boy-DEF see-PF.POS  river.DEF near
‘The boy was seen near the river.’

c. Fipkintéw-o-lu bika 1{  je.
blind-DEF-PL HAB.POS REFL see
‘The blind do not see.’

x jélé = x laughs
xjélé yla ~ x y jélé = x laughs at y

a. Kambaan-6o jélé-ta.
boy-DEF laugh-PF.POS

‘The boy laughed.’

p. 53/84
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b. Kambaan-6o jélé-td stpkit-6o la.

boy-DEF laugh-pr.pOs  girl-DEF OBL

‘The boy laughed at the girl.’
¢. Kambaan-6o ye stipkut-6o jéle.
boy-DEF PF.POS  girl-DEF laugh

‘The boy laughed at the girl.’

d. Miip ne yé kambaan-6o jélé-ndi?

what FOC PF.POS  boy-DEF laugh-caus

‘What made the boy laugh?’

x joléy = x falls (vertically)
x y jolény = x lets y fall

a. Mdnk-6o jolon-td bank-6o to.
mango-DEF fall-pPF.POS  ground-DEF LOC
‘The mango fell on the ground.’

b. Kew-6 ye mur-6o  jolom.
man-DEF PF.POS  knife-DEF  let _fall

‘The man let the knife fall.’

c. Sul-6o ye i jolon yir-6o

monkey-DEF PF.POS  REFL let fall tree-DEF

‘The monkey let itself fall from the tree.’
x y kant = x likes y, x loves y
Kambaan-éo ye stnktt-6o kanu.

boy-DEF PF.POS  man-DEF love
‘The boy loves the girl.’

Stigktt-6o ye fiin  bdy-oo kanu.
girl-DEF PF.POS DEM cloth-DEF  like

‘The girl likes this cloth.’

x y karap, = xreadsy

sdanto.

on_top

p. 54/84

Kardn, ‘read’ differs from kardn, ‘learn’ in that it behaves as a plain transitive verb

whose causativization requires the use of the complex suffix —(di)ri-ndi.

a. Kambaan-6o ye batday-6o karan.
boy-DEF PF.POS  letter-DEF  read
‘The boy read the letter.’
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b. Kew-6 ye kambaan-6o karan-diri-ndi  batday-6o la.
man-DEF PF.POS  boy-DEF read-ANTIP-CAUS  letter-DEF  OBL
‘The man made the boy read the letter.’

x karan, = x studies
x y karay, = xlearns y
x y kara-ndi z 14 ~ x z kara-ndi y ye = x teaches y z

Karan, ‘learn’ illustrates the (rare) case of a transitive construction causativized
by means of the CAUS suffix. In addition to that, the Object / Oblique Permutation
in which kara-ndi ‘teach’ is involved is exceptional among causative verbs, which in
general have only the construction illustrated in (b), with the causee in object
function.

a. Kambaan-6o ka Mandinka-kdn-o karan.
boy-DEF HAB.POS Mandinka-language-DEF learn
‘The boy learns Mandinka.’

b. Kew-6 ka kambaan-6o kara-ndi Mandinka-kdn-o la.
man-DEF HAB.POS boy-DEF learn-caus Mandinka-language-DEF OBL
‘The man teaches the boy Mandinka.’

c. Kew-6 ka Mandinka-kdn-o kara-ndi kambaan-éo ye.
man-DEF HAB.POS Mandinka-language-DEF learn-CAUS boy-DEF BEN
‘The man teaches Mandinka to the boy.’

Kardn, differs from most other A-labile verbs in that, in its intransitive use, the
second argument cannot be expressed (Active / Introversive Alternation).

d. Niri kew-6 karan-ta bdake.
DEM man-DEF study-PF.POS  very
‘This man is a very learned person.’

x kati = x breaks — x a long and rigid object
x y kati = x breaks y — y a long and rigid object

a. Kew-6 boyi-ta  yir-6o sdnto, a  kdp-o kdti-ta.
man-DEF fall-PF.pOS tree-DEF on_top 3SG neck-DEF break-pF.pOS
‘The man fell from the tree and broke his neck.’ (lit. ‘his neck broke”)

b. Kambaan-éo ye dok-60 kdti.
boy-DEF PF.POS  stick-DEF break

‘The boy broke the stick.’

When combined with ‘one’s eyes’ in object function, kdti means ‘blink’.
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c. Kew-6 ye a fda kdti.
man-DEF PF.POS  3SG eye.DEF break
‘The man blinked.’

x ké, = x happens, x occurs
xyké, = x doesy

a. Sdfjiy-o  ké-td bii.
rain-DEF happen-pF.POs today
‘It rained today.’ lit. ‘The rain happened today.’

b. Kew-6 ye dooktiw-o ké.
man-DEF PF.POS  work-DEF  do
‘The man worked (lit. did work).’

c. Dooktuw-o ké-ta.
work-DEF  do-PF.POS
‘The work was done.’

The use of this verb with the antipassive form of transitive verbs in object
function is a common strategy for encoding two participant events without
mentioning the patient.

d. Mus-6o ye tdbi-r-6o ke.
woman-DEF PF.POS  COOK-ANTIP-DEF do
‘The woman did the cooking.’

x ké, y ti = x becomes y, xisy
xy ké, z ti = x makes z out of x, x transforms y into z
x y ké-ndi z ti = x transforms y into z, x helps y become 2

a. Dindin-o ké-td kew-6 ti.
child-Der become-PF.POS man-DEF OBL
‘The child became a man.’

b. Batuutda ye new-6 ké sdn-6o ti.
magician.DEF  PF.POS  iron-DEF transform gold-DEF OBL
‘The magician changed the iron into gold.’

c. Bdamda ye a dip-o ké-ndi kew-6 ti.
mother.DEF PF.POS  3SG son-DEF become-CAUS man-DEF OBL
‘The mother helped her son become a man.’

In its intransitive use, ké, ‘be, become’ is syntactically and semantically equivalent
to the identificational copula mu (positive) / té (negative) — Ex. (d), with the
difference that the copula cannot combine with the predicative markers
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characteristic of verbal predication, and consequently copulative clauses cannot
express the TAM variations encoded by the choice of a predicative marker.

d. Kew-6 mu ddnn-6o le .
man-DEF ID.COP hunter-DEF FOC OBL
‘The man is a hunter.’

x y ké; L = x puts y somewhere

a. Kew-6 ye kitdab-60 ké tdabtiil-60 kan.
man-DEF PF.POS  book-DEF  put table-DEF  on
‘The man put the book on the table.’

b. Mus-6o0  ye dendik-6o-lu ké kiunéw-o kono.
woman-DEF PF.POS  clothes-DEF-PL put chest-DEF  inside
‘The woman put the clothes in the chest.’

xy ké, L = x spends y somewhere — y a time span
xyké, zti = x spends y doing z — y a time span

a. Kew-6 ye tili fuld le ké Siicoori.
man-DEF PF.pOS day two Foc spend  Ziguinchor
‘The man spent two days in Ziguinchor.’

b. Moéo-lu ye stiut-6o  bée ké don-6 ti.
person.DEF-PL  PF.POS  night-DEF  all spend  dance-DEF OBL
‘The people spent the whole night dancing.’

xykii zyé = xsendsytoz
Kambaan-6o ye batday-60 kii a  karammdo Yye.
boy-DEF PF.POS  letter-DEF send 3sG teacher.DEF BEN
‘The boy sent a letter to his teacher.’
kili ‘call’ is synonymous with kiimandi and has the same syntactic properties.
x kéongkoé = x is hungry
Koénko ‘be/become hungry / hunger’ is most commonly used as a noun (def.
konk-60), as in Ex. (a), but can also be used as an intransitive verb, from which the
causative verb kdnkd-ndi ‘leave without food’ can be derived.
a. Kénpk-6o be kambaan-é6o la.

hunger-DEF cOP  boy-DEF OBL

‘The boy is hungry.
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b. Kambaan-6o0 konké-ta.
boy-DEF be/become_hungry-pF.poS

‘The boy got hungry.’

c. Mus-6o0 ye dindip-o-lu  koénkd-ndi.
woman-DEF PF.POS  child-DEF-PL.  be/become_hungry-cAus
‘The woman starved the children.’

x y kégkon z kdng = x wipes y off z

Sunktt-6o ye kinijoléonddn-o koénkodny tdabul-6o kan.
girl-DEF PF.POS  crumbs-DEF wipe table-DEF  on
‘The girl wiped the crumbs from the table.’

x kiima = x speaks, x sounds (produces a sound)
x kiima y yé = x talksto y

Kiimd as an intransitive verb means ‘speak’, ‘talk’, and more generally ‘produce a
sound’ — Ex. (b). It is not used to express ‘talk about something’ — see diyaamti, fo. As
a noun, kiimd (def. kiim-60) means ‘word’, ‘speech’ — Ex. (c).

a. Kew-6 kiumd-td mus-6o Yye.
man-DEF talk-PF.POS woman-DEF BEN
‘The man talked to the woman.’

b. Tdntdn-o kumd-ta.
drum-DEF  sound-PF.POS
‘The drum sounded.’

c. Kew-6 ye mus-6o la kim-6o0 moyi
man-DEF PF.POS woman-DEF GEN word-DEF  hear
‘The man heard the words of the woman.’

The causative form kiimd-ndi can be used regularly, as in Ex. (d), but it has also
lexicalized into a distinct transitive verb kiimdndi ‘call’.

d. Kambaan-6o ye tdntdp-o  kumd-ndi.
boy-DEF PF.POS  drum-DEF  sound-CAUS
‘The boy sounded the drum.’

x y kiimandi = x calls y (shouts to draw y’s attention)
xykimandiz14 = xcallsyaz

Mandinka has two verbs with the meaning ‘call’: kili and kumdndi. They can be
used interchangeably in the same constructions. Formally, kiimd-ndi is a causative
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verb derived from kiimd ‘speak, talk’ — see (9), but its synchronic meaning cannot be

directly explained from this etymology.

a. Kew-6 ye kambaan-6o0 kimdndi.
man-DEF PF.POS  boy-DEF call
‘The man called the boy.’

b. Kew-6 ye kambaan-60 kimdndi moo  hdkilintdn-o la.
man-DEF PF.POS  boy-DEF call person  stupid-DEF OBL
‘The man called the boy a fool.’

‘x calls y a 2’ can also be expressed by means of the quotative marker ko, a
predicative element primarily used in the frame ‘x ké (y ye) RU’ (x the speaker, y the
addressee, RU the reported utterance). Ké differs from regular verbs by being
incompatible by the TAM-polarity markers that obligatorily accompany verbs in
predicate function. Ex. (d) shows that ké can also be used to introduce the

designation of kinds.

c. Kew-6 ko kambaan-6o ye moo  hdkilintdy-o.
man-DEF QUOT boy-DEF BEN person stupid-DEF
‘The man called the boy a fool.’

d. Suruwda-lu ké suw-6 ye ‘fas’
Wolof.DEF-PL.  QUOT horse-DEF BEN ‘fas’
“The Wolofs call the horse ‘fas’.

For ‘call’ in the sense of ‘give a name’, see tdolda.

x kumbéo = x cries
x y kumbé6o = x laments the loss of y

a. Mus-6o  kumboo-ta.
woman-DEF Cry-PF.POS
‘The woman cried.’

b. Mus-6o ka a keemda kumboo.
woman-DEF HAB.POS 3SG husband.DEF  cry
‘The woman laments the loss of her husband.’

c. Miin ne yé mus-6o  kumbo-ndi?
what FOC  PF.POS woman-DEF Cry-CAUS
‘What made the woman cry?’
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x y kunti z 14 = x cuts y with z

a. Mus-6o ye sub-60 kuntt mur-6o la.
woman-DEF PF.POS  meat-DEF cut knife-DEF  OBL
‘The woman cut the meat with a knife.’

b. Sub-60 kuntii-ta.
meat-DEF  Cut-PF.POS
‘The meat was cut.’

x y kliu = x washes y

a. Mus-6o  ye dendik-60 kuu.
woman-DEF PF.POS  shirt-DEF wash
‘The woman washed the shirt.’

b. Mus-6o0  ye kuu-r-60 ké.
woman-DEF PF.POS  wash-ANTIP-DEF do
‘The woman did the washing.’

c. Kew-6 ye mus-6o0  kuu-ri-ndi dendik-60 la.

man-DEF PF.POS  woman-DEF wash-ANTIP-CAUS shirt-DEF
‘The man made the woman wash the shirt.’

d. Mus-6o0  ye dindin-o  kuu.
woman-DEF PF.POS  child-DEF wash
‘The woman washed the child.’

e. Dindin-o kuu-ta.
child-DEF  wash-PF.pPOS

“The child has been washed.’
f. Mus-6o0 ye i kuu.

woman-DEF PF.POS REFL wash

‘The woman washed (herself).’

kuuray ‘fall ill’ has the same syntactic properties as jagkari

x laa,; (y kan) ~ x Refl 1da; (y kan) = x lies down (onto y)
x y laa, (z kdng) = x lays y (onto 2), x loads y (onto ), x puts y (onto 2z)

x y la-ndi (z kdg) = x lays y (onto 2)

p. 60/84

Lda; is used intransitively or in the middle construction with the meaning ‘lie
down’ — Ex. (a). In its transitive use, lda; is in competition with ld-ndi, formed via
the addition of the CAUS suffix — Ex. (b-d). Lda is typically used with inanimate
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objects, and ld-ndi is preferred with animate objects. The complex ANTIP-CAUS
suffix can be added both to lda and ld-ndi - Ex. (e-f).

a. Kew-6 ye i l[da laardn-o kan.
man-DEF PF.POS  REFL lay bed-DEF on
‘The man lay down on the bed.’

b. Kew-6 ye mbaj-60 lda dindin-o kan.
man-DEF PF.POS  blanket-DEF lay  child-DEF  on
‘The man put a blanket on the child.’

c. Kew-6 ye loo lda saréet-6o0 kan.
man-DEF PF.POS wood.DEF lay cart-DEF on
‘The man loaded the wood on the cart.’

d. Moo-lu yé baramatéo ld-ndi laardn-o  kan.
person.DEF-PL.  PF.POS  wounded_person.DEF lie-CAUS bed-DEF on
‘The people laid the wounded person on the bed.’

e. Kew-6 ye kambaan-6o lda-ri-ndi l6o la saréet-6o kan.
man-DEF PF.POS  boy-DEF lay-ANTIP-CAUS woOOd.DEF  OBL  cart-DEF on
‘The man made the boy load the wood on the cart.’

f. Kew-6 ye mus-6o-lu  ld-ndi-ri-ndi baramatéo la
man-DEF PF.POS  woman-DEF-PL lie-CAUS-ANTIP-CAUS  wounded_person.DEF OBL
‘The man made the women lay the wounded person

laardn-o  kan.
bed-DEF on
on the bed.’

x y laa, (z yé) = x tells y (to 2) — y a story
x y laa, = x sings y —y a song

a. Mus-6o  ye taalip-o  lda dindig-o ye.
woman-DEF PF.POS  story-DEF  lay  child-DEF  BEN
‘The woman told a story to the child.’

b. Stipkiit-6o ye dopkiléo lda.
girl-DEF PF.POS  song-DEF lay
‘The girl sang (a song).’

As indicated in the gloss, these uses of 1lda, can be viewed as a metaphorical
extension of 1aa, ‘lay’ — see (102).



Leipzig Valency Classes project: Mandinka (Denis Creissels) p. 62/84

x lafi y 14 = x likes y
x lafi y 14 = x wants y

a. Kew-6 lafi-ta kéd-6o la.
man-DEF want-PF.POS money-DEF OBL
‘The man wants money.’

b. Kew-6 lafi-td kambaan-éo la.
man-DEF like-PF.POS boy-DEF OBL
‘The man likes the boy.’

c. Miin ne ye dindin-o lafi-ndi  kitdab-6o la?
what Foc PF.POS  child-DEF like-cAus book-DEF OBL
‘What made the child like the book?’

xylii = x shavesy

a. Kew-6 ye a kup-6 i
man-DEF PF.POS 3SG head-DEF shave
‘The man shaved his head.’

b. Jumda le ye i lii?
who FOC PF.POS 2sG shave

‘Who shaved you?’

x 16y = x knows much
x y16g = x knows y

Loy differs from most other A-labile verbs in that, in its intransitive use, the
second argument cannot be expressed (Active / Introversive Alternation).

a. Kew-6 ye kambaan-6o [6n.
man-DEF PF.POS  bOy-DEF know
‘The man knows the boy.’

b. Nin kew-6 ye mansaali jdmda lon.
DEM man-DEF PF.POS  riddle many  know
‘The man knows many riddles.’

c. Nip kew-6 Ién-ta bdake.
DEM man-DEF know-PF.POS very
‘This man is a very learned person.’
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x 160 ~ x (Refl) 160 = x stands, x stops
x y 160 = x builds y, x erects y, x puts y in standing position
x y lo-ndi = x builds y, x erects y, x puts y in standing position

Loo ‘stand / erect’ is used to describe one-participant events with the meaning
‘stand (up)’, ‘stop’, and in this meaning, it participates in the Intransitive / Middle
Synonymy — Ex. (a-b). It is found in transitive constructions with the meaning ‘raise,
erect’ (and by extension ‘organize an event’, ‘fix a date’) either in its non-derived
form or in a form including the CAUS suffix ; it seems that the causative form is used
with reference to objects that are not necessarily in vertical position — Ex. (d), and
the non-derived form with reference to objects that, once erected, will normally
remain in the same position — Ex. (c). The non-derived form is also used with
abstract objects — Ex. (e).

a. Kew-6 loo-ta.
man-DEF stand-PF.POS
‘The man stood up / stopped.’
b. Kew-6 ye i loo.
man-DEF PF.POS  REFL stand
‘The man stood up / stopped.’

c. Kew-6 ye bin-o loo birik-60 la.
man-DEF PF.POS  house-DEF erect brick-DEF  OBL
‘The man built the house with bricks.’

d. Mus-6o0  ye kulin-o  lo-ndi.
woman-DEF PF.POS  mortar-DEF stand-CAUS
‘The woman put the mortar in vertical position.’

e. Moo-lu ye tuliin-o  loo.
person.DEF-PL  PF.POS dance-DEF erect
‘The people organized a dance.’

f. Bin-o loo-ta.
house-DEF  erect-PF.POS
‘The house has been built.’

g. Kulin-o  lo-ndi-ta.
house-DEF  stand-CAUS-PF.POS
‘The mortar has been put in vertical position.’
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x y maa (z 1) = x touches y (with 2)

Kambaan-6o ye sda maa  fdl-6o la.
boy-DEF PF.POS  snake.DEF touch  stick-DEF OBL
‘The boy touched the snake (with a stick).’

x maabé y mé ~ x Refl mdabé y ma = x hides from y
x y maabé z ma = x hides y from z
x y maabé-ndi z m4 = x hides y from z

Mandinka has two verbs, nukin and mdabd, used in the same constructions with
the meaning ‘hide’. In addition to this meaning, mdabé also expresses ‘save’, ‘keep’.

a. Dindin-o mdabd6-td kew-6 ma.
child-pEF  hide-PF.POS man-DEF OBL
‘The child hid from the man.’

b. Dindin-o ye i mdabé kew-6 ma.
child-bDEF  PF.POS  REFL hide man-DEF OBL
‘The child hid from the man.’

c. Mus-6o ye kéd-6o  mdabé kew-6 ma.
woman-DEF PF.POS  money-DEF hide man-DEF OBL
‘The woman hid the money from the man.’

d. Kéd-6o0  mdabé-td kew-6 ma.
money-DEF hide-PF.POS man-DEF OBL
‘The money was hidden from the man.’

e. Mus-6o ye dindin-o mdabé-ndi kew-6 ma.
woman-DEF PF.POS  child-DEF hide-caus man-DEF OBL
‘The woman hid the child from the man.’

f. Mus-6o ye dindin-o mdabé-ri-ndi  kéd-6o la.
woman-DEF PF.POS  child-DEF  hide-ANTIP-CAUS = money-DEF OBL
‘The woman made the child hide the money.’

x y maakoyi (z t6) = x helps y (with 2)
Kew-6 ye a téerimda mdakoyi kdéd-60 to.
man-DEF PF.POS  3sG friend.DEF help money-DEF  LOC

‘The man helped his friend financially.’

Mandinka has two verbs used in the same constructions with exactly the same
meaning ‘help’: mdakdyi and deemda.
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x mala = x burns - x a fire or a light
x y mala = x lights y

a. Dimbda madld-ta.
fire.DEF burn-PF.POS
‘The fire burned.’

b. Kew-6 ye dimbda madla.
man-DEF PF.POS  fire.DEF light
‘The man lit the fire.’

x y miird = x thinks about y
x a miira k6 Cl = x thinks that Cl — Cl a clause, ‘a’ the 3rd person pronoun
x Refl miira y t6 = x thinks about y

a. Kew-6 ye i miird kambaan-6o la  kiw-o to
man-DEF PF.POS  REFL think boy-DEF GEN affair-DEF  LOC
‘The man thought about the boy.’

The construction in (a) can be viewed as an Antipassive Middle, since miird is
also used transitively with the thinker in subject function. Note however that the
use of this verb with just an NP in object function is relatively rare. Most of the
time, the object of miird used transitively is a pronoun anticipating a complement
clause in sentence-final position — Ex. (b).

b. Kew-6 ye a; miird [ké mus-6o ye a  kanul;.
man-DEF PF.POS 3sG think QUOT woman-DEF PF.POS 3sG love
‘The man thinks that the woman loves him.’

x y ming ~ x Refl mif) y 14 = x drinks y

a. Kew-6 ye jiy-o min.
man-DEF PF.POS  water-DEF  drink
‘The man drank water.’

b. Kew-6 ye i min jiy-o la.
man-DEF PF.POS  REFL drink water-DEF  OBL
‘The man drank water.’

c. Mus-6o ye kew-6 mi-ndi béor-60 la.
woman-DEF PF.POS man-DEF drink-CAUS medicine-DEF  OBL
‘The woman made the man drink the medicine.’
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x minig y 14 = x hugs y, x winds around y
x y minin = x surrounds / encircle y
x y minip z 14 = x winds y around 2

In the sense of ‘hug’, miniy can be used intransitively, or in a middle construction
analyzable as regularly derived from its second transitive construction (d-e).

a. Némb-60 minin-td yir-6o la.
creeper-DEF wind-PF.POS tree-DEF OBL
‘The creeper winded around the tree.’

b. Kel-60 ye tat-60 minin.
army-DEF ~ PF.POS  fortress-DEF surround
‘The army encircled the fortress.’

c. Kew-6 ye jul-60o miniy fdl-6o la.
man-DEF PF.POS  rope-DEF wind stick-DEF OBL
‘The man winded the rope around the stick.’

d. Kew-6 minin-td mus-6o la.
man-DEF wind-PF.POS woman-DEF OBL
‘The man hugged the woman.’
lit. “The man winded around the woman.’

e. Kew-6 ye i minin mus-6o la.
man-DEF PF.POS REFL wind woman-DEF OBL
‘The man hugged the woman.’
lit. ‘The man winded himself around the woman.’

x y moyi = x hears y

Moyi has two causative forms: moyi-ndi has the lexicalized meaning ‘promise’,
whereas moyi-ri-ndi expresses ‘make hear’, ‘tell’.

a. Kambaan-6o ye maakdn-o moyi.
boy-DEF PF.POS  noise-DEF  hear
‘The boy heared a noise.’

b. Wo kuw-o moyi-ta.
DEM matter-DEF hear-PF.POS
‘The people have heard about that matter.’ lit. “That matter has been heard.’

c. Kew-6 buka moyir-6o ke.
man-DEF HAB.NEG hear-ANTIP-DEF do
“The man does not hear.’
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d. Kew-6 ye mus-6o  moyi-ndi min ne la?
man-DEF PF.POS  woman-DEF hear-CAUS what FOC OBL
‘What did the man promise to the woman?’

e. Kew-6 ye mus-60  moyi-rindi miin ne
man-DEF PF.POS woman-DEF hear-ANTIP-CAUS what FOC
‘What did the man tell to the woman?’

x y muta, = x catchesy
Xy mutd, z ti = x considers y to be z

Napkiim-6o ye fiiln-6o  muta.
cat-DEF PF.POS  mouse-DEF catch
‘The cat caught a mouse.’

x y muti, = xactsony
x mutd, = x takes effect

a. Sitikénp-o yé mbir-6o0  muta.
charm-DEF PF.POS  wrestler-DEF act_on
‘The charm acted on the wrestler.

b. Sitikén-o muta-td le.
charm-DEF take_effect-PF.POS FOC
‘The charm took effect.’

x y muura z 14 = x covers y with z
Kew-6 ye dindin-o muurd mbaj-60 la.
man-DEF PF.POS  child-DEF cover blanket-DEF OBL
‘The man covered the child with the blanket.’
x naa L = x comes somewhere
a. Kew-6 naa-td saatéw-o to.

man-DEF come-PF.POS village-DEF LOC
‘The man came to the village.’

p. 67/84

la?
OBL

Nda has deictic implications similar to those of English ‘come’.
Causative derivation is impossible with nda, but ‘bring’ can be expressed by
combining nda with an oblique headed by the postposition ti, and this construction

lends itself to Postposition Incorporation.
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xndayti L = x brings y somewhere
~ x ynaa-ti L

xndaytizyé = x brings y to 2
~ X y naa-ti z yé

b. Kambaan-6o0 naa-td kitdab-6o ti a = karammoéo ye.
boy-DEF come-PF.POS  book-DEF  with 3sG teacher.DEF BEN
‘The boy brought the book to his teacher.’

c. Kambaan-6o ye kitdab-60 naa-ti a  karamméo ye.
boy-DEF PF.POS  book-DEF = come-with 3sG teacher.DEF BEN
‘The boy brought the book to his teacher.’

d. Kambaan-6o naa-td kitdab-6o ti  karambiin-o to.
boy-DEF come-PF.POS  book-DEF  with school-DEF LOC

‘The boy brought the book to school.’

e. Kambaan-6o ye kitdab-60 naa-ti karambiin-o to.
boy-DEF PF.POS  book-DEF  come-with school-DEF LOC

‘The boy brought the book to school.’
xynii z14 = x offers y to z

With y referring to a person, the usual interpretation of nii ‘offer’ is ‘marry (a
girl)’.

Fda ye stipkut-6o nii  kew-6 la.
father.DEF  PF.POS  girl-DEF offer man-DEF BEN
‘The father married (lit. offered) the girl to the man.’

x y niki) = x learns y
x y niki-ndi z 14 = x teaches y

Nikin ‘learn’ has the same transitive use as kardn, ‘learn’, and can also be
causativized without the antipassive suffix. These two verbs differ however in that
kardn, is A-labile, whereas nikin cannot be used intransitively with the learner in
subject role.

a. Kambaan-6o ye wot-60 nikin.
boy-DEF PF.POS  car-DEF learn
‘The boy learned driving.’

b. Kew-6 ye kambaan-6o niki-ndi  wot-60 la.
man-DEF PF.POS  boy-DEF learn-CAUS car-DEF OBL
‘The man taught driving to the boy.’
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nukay ‘hide’ is synonymous with maabé and occurs in the same constructions

x fiilisd = x blinks — x a light

Looléo ka filisa.
star.DEF HAB.POS blink
‘Stars blink.’

— This verb is not used with reference to eyes. Mandinka expresses ‘x blinks
(his/her eyes)’ by means of the idiom 7ida kdti, lit. ‘break the eye’.

x y fiini(y) = x searches for y

Kew-6 ye kambaan-6o fiini.
man-DEF PF.POS  boy-DEF search
‘The man searched for the boy.’

x y fiinigkda z 14 = x asks y about 2z

Mus-60  ye kew-6 fininkda a  kontdn-o la.
woman-DEF PF.POS man-DEF ask 3sG  surname-DEF OBL
‘The woman asked the man his surname.’

x flori = x moves
x y fiori = x pushes y
x y fiori-ndi = x causes y to move

a. Kew-6-lu yé wot-60 Tfiori.
man-DEF-PL PF.POS car-DEF push
‘The men pushed the car.’

b. Dindin-o fiori-ta.
child-DEF  move-PF.POS
‘The child moved (out of the way).’

c. Ndaténk-6o0 ye ben-6 fori-ndi.
president-DEF PF.POS  meeting-DEF move
‘The president postponed the meeting.’

x saa = x dies
Kew-0 saa-ta.

man-DEF die-PF.POS
‘The man died.’
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Sda and fda are interchangeably used as intransitive verbs meaning ‘die’. They
differ in that sda is a strictly intransitive verb, and does not have a causative form
either, whereas faa is a P-labile verb.

Sda is the only Mandinka verb that cannot be used in its underived form as an
action noun, and for which a distinct action noun exists (saayda ‘death’). It is also
the only strictly intransitive verb from which no causative form can be derived.

saasaa ‘fall ill’ has the same syntactic properties as japkari

x y safée = x writes y
x y séfée z yé ~ x z safée y 14 = x writes y to z,

a. Kambaan-6o ye batday-60 sdfée a  karamméo ye.
boy-DEF PF.POS  letter-DEF  write 3sG teacher.DEF BEN
‘The boy wrote a letter to his teacher.’

b. Kambaan-éo ye a  karammbo sdfée batday-6o la.
boy-DEF PF.POS  3sG teacher.DEF write  letter-DEF  OBL

‘The boy wrote a letter to his teacher.’

xy samba L = x brings y somewhere, x carries y somewhere
x y samba z yé = x brings y to 2, x carries y to z

a. Kambaan-6o ye kitdab-60 sambd karambiin-o to.
boy-DEF PF.POS  book-DEF  bring/carry school-DEF LOC
‘The boy brought / carried the book to the school.’

b. Kambaan-éo ye kitdab-60 sambd a  karamméo ye.
boy-DEF PF.POS  book-DEF  bring/carry 3sG teacher.DEF BEN
‘The boy brought / carried the book to his teacher.’

Sambd (bring / carry) is not oriented deictically. If the deictic orientation is not
clear from the context, centripetal orientation can optionally be specified by adding
the centripetal particle ndy — Ex. (¢) — or by using nda ...tf instead of sambd;
centrifugal orientation can similarly be specified by using tda ... ti instead of sambd.

¢. Kambaan-6o ye kitdab-60o sambd ndp a = karammdo Yye.
boy-DEF PF.POS  book-DEF  bring  CTRP 3SG teacher.DEF BEN
‘The boy brought the book to his teacher.’
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X sari = x screams
x sari y kdn = x shouts at y
x sari y ti ~ x y sari = x shouts y

a. Kew-6 sdri-td stipkut-6o kan.
man-DEF shout-pF.pOS  girl-DEF on
‘The man shouted to the girl.’

b. Kew-6 sdri-td stipktt-6o0 téo
man-DEF shout-PF.POS  girl-DEF
‘The man shouted the girl’s name.’

c. Kew-6 ye stipkut-6o tbéo
man-DEF PF.POS  girl-DEF name.DEF
‘The man shouted the girl’s name.’

name.DEF
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ti.
OBL

— sdri ‘shout’ may be etymologically related to the plain transitive verb sdri ‘scatter

(seeds, fertilizer, etc.)’.
Xx sawtr, (L) = x jumps (somewhere)
a. Dindin-o sawtn-ta.

child-DEF  jump-PF.POS
‘The child jumped.’

b. Nagkiim-6o sawtin-td siirdp-o  kan.
cat-DEF jump-PFE.POS chair-DEF  on

‘The cat jumped on the chair.’

Sawin; ‘jump’ also expresses various meanings that can be considered as
extensions of its basic meaning ‘jump’ (for example ‘move to a new house’), in
which it behaves as a strictly intransitive verb which can only be transitivized via

causativization.

c. Kew-6 sawtun-td a la
man-DEF move-PF.POS 3sG  GEN house
‘The man moved to his new house.’

d. ‘File’ sawu-ndi ‘folder’ to.
file move-caus folder LOC
“Transfer the file to a folder.’

koridaa

kiit-6o to.
new-DEF LOC
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X sawln, y 14 = y is infected by x — x an illness
Xy sawtr), z 14 ~ x y sawu-ndi z 14 = x infects z with y — y an illness

Sawtun, is quite obviously a metaphorical extension of sawiin,, but differs from it
in its ability to be used transitively without the causative suffix.

a. Kew-6 ye ‘Aids’ sawtin a ld mus-6o la.
man-DEF PF.POS Aids transmit 3SG GEN wife-DEF OBL
‘The man infected his wife with Aids.’

b. Kew-6 ye ‘Aids’ sawu-ndi a ld mus-6o la.
man-DEF PF.POS  Aids jump-CAUS 3sG GEN wife-DEF OBL
same meaning as (a)

x selé y sénto ~ x y selé = x climbs up y

a. Kew-6 sele-td konk-60  sdnto.
man-DEF climb-pF.pos  hill-DEF on_top
‘The man climbed up the hill.’

b. Kew-6 ye konpk-6o  sele.
man-DEF PF.POS  hill-DEF climb

‘The man climbed up the hill.’

c. Kew-6 ye kambaan-6o sele-ndi  suw-6 sdnto.
man-DEF PF.POS  boy-DEF climb-cAus horse-DEF  on_top
‘The man helped the boy get on the horse.’

x sii y kdng = x sits (down) on y
x sii L = x lives somewhere

Mandinka uses the same verb sii ‘sit’ in the same constructions to express
movement and posture, and sii is also used in the meaning ‘live somewhere’. Note
that bdliiu ‘live’ is not used in the meaning ‘live somewhere’.

a. Dindin-o sii-td siirdn-o  kan.
child-DEr Sit-PF.POS chair-DEF  on
‘The child sat on the chair.’

b. Kew-6 ye dindin-o si-ndi siirdp-o  kan.
man-DEF PF.POS  child-DEF sit-cAUS chair-DEF  on
‘The man sat the child on the chair.’

c. I)  bdrimmda be sti-rin ~ Siicéori.
1sG uncle.DEF  LOC.COP sit-RES  Ziguinchor
‘My uncle lives in Ziguinchor.’
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xysii = x grinds y

Mus-60  ye tiy-60 Sti.
woman-DEF PF.POS  peanuts-DEF grind
‘The woman ground the peanuts.’

x sila(yg) y 14 = x fearsy
x y sila-ndi = x frightens y

a. Kambaan-6o sild-td kew-6 la.
boy-DEF fear-PF.POS man-DEF OBL
‘The boy feared the man.’

b. Kew-6 ye kambaan-6o sild-ndi.
man-DEF PF.POS  boy-DEF fear-caus

‘The man frightened the boy.’

x y sin = x digs y, x digs for y

Sin and wiiri ‘dig (for)’ are used interchangeably in the same constructions.

a. Kew-6 ye dink-6o sin.
man-DEF PF.pOS  hole-DEF dig
‘The man dug a hole.’

b. Kew-6 ye fiamb-6o  sin.
man-DEF PF.POS  cassava-DEF dig
‘The man dug for cassava.’

x y siti; (z bald) = x ties y (to 2)
a. Kew-6 ye suw-6 siti  yir-6o bdld (jul-6o la).
man-DEF PF.POS horse-DEF tie tree-DEF CONT rope-DEF OBL
‘The man tied the horse to the tree (with a rope).’

b. Suw-6 siti-ta yir-6o bdla.
man-DEF tie-PF.POS  tree-DEF CONT
‘The horse was tied to the tree.’

c. Kew-6 ye kambaan-é6o siti-ri-ndi suw-0 la
man-DEF PF.POS  boy-DEF tie-ANTIP-CAUS horse-DEF  GEN
‘The man made the boy tie the horse to the tree.’

yir-60 bdla.
tree-DEF CONT

p. 73/84
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x siti, = x is ill-lucked

Kew-6 siti-ta.
man-DEF be_ill lucked-PF.Pos
‘The man is ill-lucked, undergoes difficulties.’

Sitf, can be viewed as a metaphorical extension of siti;, but syntactically, it differs
from sit; by having an intransitive construction that cannot be analyzed as the
passive counterpart of a transitive construction.

xys6zla = xgivesztoy

So differs from dii ‘give’ not only in its alignment (indirective for dii, secundative
for sé), but also in its semantics: sé6 implies that the theme will remain in the
possession of the recipient, whereas dii carries no such implication.

Karammoéo ye kambaan-60 sé  kitdab-6o la.
teacher.DEF PF.POS  boy-DEF give book-DEF  OBL
‘The teacher gave the book to the boy.’

X y s00 z kondé = x pours y into z

a. Kew-6 ye jiy-o soo wéer-6o0  kono.
man-DEF PF.POS  water-DEF  pour glass-DEF  inside
‘The man poured the water into the glass.’

b. Kew-6 ye mus-6o0  soo-ri-ndi jiy-o la wéer-60 kéno.
man-DEF PF.POS  woman-DEF pOur-ANTIP-CAUS  water-DEF  OBL  glass-DEF  inside
‘The man made the woman pour the water into the glass.’

Soo is used exclusively for ‘pour into a container’. In other situations, the
Mandinka equivalent of English ‘pour’ is bon.

x y s6oli z kond ~ x z séoli y 14 = x crams y into 2, x stuffs z with y

a. Kew-6 ye tiy-60 sooli boot-60  kéno.
man-DEF PF.POS  peanuts-DEF cram-CAUS bag-DEF inside
‘The man crammed the peanuts into the bag.’

b. Kew-6 ye boot-60  sooli tiy-6o la.
man-DEF PF.POS  bag-DEF stuff-CAUS  peanuts-DEF OBL
‘The man stuffed the bag with peanuts.’
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x sot6é L = x is available somewhere

Xy soté6 = x getsy, x hasy

Xy sot6 z bulu = x gets y from z

x y soto-ndi z yé = x makes y available to z

Soté used transitively is the equivalent of both ‘get’ and ‘have’ — Ex. (b).
Comparison with the other Manding varieties suggests that ‘get’ — ‘have’ is a recent
development in the history of Mandinka, since transitive verbs of possession do not
exist in other Manding varieties but constitute an areal feature of the Atlantic
languages with which Mandinka is in contact.

Bulii is a postposition expressing possession, cognate with the noun bild ‘hand,
arm’. The combination of the locative copula with a postposition phrase headed by
biilu is another common way of expressing possession, in competition with soté — Ex.

(o).

a. Kambaan-6o ye kitdab-6o sot6 a  karammoéo  bilu.
boy-DEF PF.POS  book-DEF  get 3sG teacher.DEF PSPH
‘The boy got the book from his teacher.’

b. Kambaan-éo ye kitdab-60 soto.
boy-DEF PF.POS  book-DEF  get
‘The boy got the book.” or ‘The boy has a book.’

c. Kitdab-6o le  bé kambaan-6o bilu.

book-DEF  FOC 1LOC.cOP boy-DEF PSPH
‘The boy has a book.’

d. Néw-o soto-td le mdrséw-o té6  bii
fish-DEF get-PF.POS FOC market-DEF LOC today
‘There is fish available at the market today.’

e. Kew-6 ka ddafiin-60 soto-ndi dimbdayda ye.
boy-DEF HAB.POS food-DEF be_available-caus family.DEF BEN
‘The man provides the family with food
(lit. makes food available for the family).’

X samayaa = x is cold

Sumdyda ‘be cold’ derives from the adjective sumd ‘cold’. It cannot be used
verbally to express ‘be cold’ in the sense of ‘feel cold’ - see tard.

a. Jiy-o sumdyda-td le.
water-DEF  be/become_cold-PF.POS  FOC
‘The water is cold.’
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b. Kew-6 ye tée stmdyd-ndi jannin a  bé a  minna
man-DEF PF.POS  tea-DEF be/become_cold-caus  before 3sG Loc.cop 3sG  drink-INF
‘The man let the tea get cold before drinking it.’

x y sumbt = x smells y, x kisses y

a. Wul-6o ye dindin-o  sumbu.
dog-DEF PF.POS  child-DEF  smell

‘The dog smelled the child.’

b. Mus-6o0  ye dindin-o  sumbu.
woman-DEF PF.POS  child-DEF smell
‘The woman kissed the child.’

X suna = Xx is sad
x y sunti = x makes y sad
x y sunu-ndi = x makes y sad

a. Kew-6 sunu-ta.
man-DEF be/become_sad-PF.POS
‘The man got sad.’

b. Nin kim-6o yé kew-6 sunu.
DEM word-DEF PF.POS man-DEF make sad
‘These words made the man sad.’

c. Mus-6o0 la saayda ye kew-6 sunu-ndi.
woman-DEF GEN death.DEF PF.POS man-DEF be/become_sad-CAUS
‘The woman’s death made the man sad.’

X y suuida z buld ~ x z suunda y 14 = x steals y from z
Suufida ‘steal’ derives from the noun siip ‘thief’.
a. Kambaan-6o ye kitdab-60 suufida a  karamméo  biilu.
boy-DEF PF.POS  book-DEF  steal 3sG teacher.DEF PSPH
‘The boy stole the book from his teacher.’
b. Kambaan-éo ye a  karamméo suufida kitdab-6o la.

boy-DEF PF.POS 3sG teacher.DEF steal book-DEF  OBL
‘The boy stole the book from his teacher.’
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x y taa (z balt) = x takes y (from 2)

Kew-6 ye kitdab-60 tda kambaan-6o0 bulu.
man-DEF PF.POS  book-DEF  take boy-DEF PSPH
‘The man took the book from the boy.’

Xx tda = x goes away
x tda L = x goes somewhere
x tda y ti L = x carries y somewhere

a. Kew-6 tda-ta.
man-DEF go_away-PF.POS
‘The man went away.’

b. Kew-6 tda-td kiink-60  to.
man-DEF go-PF.pOS  field-DEF  LOC
‘The man went to the field.’

c. Kambaan-6o tda-td kitdab-6o ti  karambiip-o to.
boy-DEF g0-PF.POS  book-DEF  with school-DEF LOC
‘The boy carried the book to school.’

Like nda ‘come’, tda ‘go’ has no corresponding causative form. Contrary to nda ...
ti, the tda ... ti construction does not lend itself to Postposition Incorporation.

x tAama = x walks
x y tAamda = x walks through y, x spends y walking

a. Kewé tdamd-ta.
man-DEF walk-PF.POS
‘The man walked.’

b. Kewo ye wuléo bée tdama.
man-DEF PF.pOS  bush:DEf all  walk
‘The man walked through the whole bush.’

c. Kewo ye tili Wuld tdama, a mdy  futd  saatéwo to.
man-DEF PF.pOS day five wander 3sG PF.NEG arrive village:DEF OBL
‘The man walked five days without arriving at the village.’

x y tdbi = x cooks y
a. Mus-6o ye sub-60 tdbi.

woman-DEF PF.POS meat-DEF  cook
(4 )
The woman cooked the meat.
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b. Sub-60 tdbi-ta.
meat-DEF cook-PF.POS
‘The meat has been cooked.’

c. Mus-6o ye tdbi-r-60 ké.
woman-DEF PF.POS  cOOK-ANTIP-DEF do
‘The woman did the cooking.’

d. Kew-6 ye mus-6o0  tdbi-ri-ndi sub-60 la.
man-DEF PF.POS woman-DEF COOk-ANTIP-CAUS meat-DEF OBL
‘The man made the woman cook the meat.’

x tard L = x is found somewhere
x y tard L = X meets y somewhere, x finds y somewhere
x tara y 14 = y is affected by x

Tard is a labile verb used intransitively to express location, and by extension
states affecting an individual (hunger, sickness, cold, etc.). In this intransitive use,
tard is interchangeable with the locative copula bé (positive) / té (negative). The
only difference is that the locative copula does not combine with the predicative
markers characteristic of verbal predication, and therefore constructions headed by
tard ‘be found’ are compatible with the expression of aspecto-temporal meanings
that cannot be specified in copulative constructions.

a. Mus-6o be mdrséw-o to.
woman-DEF LOC.COP market-DEF LOC
‘The woman is at the market.’

b. Mus-6o  ka tara mdrséw-o to.
woman-DEF HAB.POS be_found market-DEF LOC
‘The woman is usually at the market.’

c. Kew-6 ye mus-60  tara mdrséw-o to.
man-DEF PF.POS woman-DEF find market-DEF LOC
‘The man met/found the woman at the market.’

d. Nén-6o be kambaan-éo la.
cold-DEF LOC.COP boy-DEF OBL
‘The boy is cold.’ lit. ‘The cold is at the boy.’

d. Stmdyda be kambaan-éo la.
cold.DEF LOC.COP boy-DEF OBL

‘The boy is cold.’ lit. “The cold is at the boy.’
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xyteyi, = xcutsy

Kew-6 ye fiantdn-o teyi.
man-DEF PF.POS  thatching grass-DEF  cut
‘The man cut thatching grass.’

p. 79/84

Teyi, ‘cut’ is used specifically with reference to plant stems (grass, rice, millet).

‘Cut’ in general is expressed as kuntil.

x teyi, y 14 ~ x y teyi, = x crosses y

Teyi, ‘cross’ is cognate with teyi; ‘cut’ but has distinct syntactic properties: teyi,
‘cut’ is a plain transitive verb used intransitively with a passive meaning exclusively,

whereas teyi, ‘cross’ lends itself to Object / Oblique Alternation.

a. Mus-6o-lu teyi-ta bda la.
woman-DEF-PL, Cross-PF.POS river.DEF OBL
‘The women crossed the river.’

b. Mus-6o-lu  ye bda teyi.
woman-DEF-PL PF.POS river.DEF Cross
‘The women crossed the river.’

c. Kew-6 ye mus-6o-lu  teyi-ndi  bda la.
man-DEF PF.POS woman-DEF-PL  Cross-CAUS river.DEF OBL
‘The man conveyed the women across the river.’

x teyi; = x breaks
x y teyi; (z 1a) = x breaks y (with 2)

a. Kambaan-6o ye palantéer-6o teyi ber-6o la.
boy-DEF PF.POS window.DEF  break stone-DEF  OBL
‘The boy broke the window with the stone.’

b. Kil-60 teyi-ta.
egg-DEF break-PF.POS

‘The egg broke.’

c. Saatéw-o teyi-ta.
village-DEF break-PF.POS
‘The village was destroyed.’

— Comparison with other Manding varieties shows that the coincidence between
teyi, ‘break’ (P-labile) and teyi, ‘cut (stems)’ (plain transitive) is an accidental
homonymy resulting from phonetic evolutions, and that teyi, ‘cross’ is cognate with
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teyi; ‘cut (stems)’ — cf. Maninka té, Bambara ci ‘break’ vs. Maninka t£(g)e, Bambara
tige ‘cut, cross’.

x y téolda z 14 = x names y z

Kew-6 ye a dimmis-60 téo-lda Ami la.
man-DEF PF.POS  3sG daughter-DEF name-put Amy OBL
‘The man called (= named) his daughter Amy.’

This construction involves a noun+verb compound tdéo-lda lit. ‘name-put’, which
taken as a whole constitutes the equivalent of a plain transitive verb.

X toot6o = x coughs

a. Kew-6 tootéo-ta.
man-DEF cough-PF.POS
‘The man coughed.’

b. Siisty-o  yé kew-6 tooto-ndi.
smoke-DEF PF.POS  man-DEF cough-CAUs
‘The smoke made the man cough.’

x ti L = x remains somewhere
xy ti L = x leaves y somewhere
a ta x (14d) = there remains x (‘a’ the 3rd person ponoun)

Td is a P-labile verb — Ex. (a-b), but in addition to that, tii is the only Mandinka
verb with an intransitive construction involved in the Subject / Oblique Alternation.
The construction illustrated in Ex. (c) is an impersonal construction which has no
equivalent with any other Mandinka verb.

The possibility of omitting the postposition marking the oblique argument of ti
used impersonally is exceptional in Mandinka syntax. Note however that, given the
rigidity of constituent order in Mandinka, this omission does not result in an
ambiguity between object and oblique.

a. Mus-6o ye dindig-o-lu ti stw-o kéno.
woman-DEF PF.POS  child-DEF-PL leave house-DEF inside
‘The woman left the children in the house.’

b. Musu-kéebda fula ti-td saatéw-o  to.
woman-old two remain-PF.POS village-DEF LOC
‘Two old women remained in the village.’

c. A titd jée musu-kéebda  fula (la).
3sG remain-PF.POS there woman-old two OBL
‘There remained two old women.’
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x talang = x plays
x talag y 14 ~ x y taldg = x does not take y seriously, x behaves frivolously
towards y

a. Dindin-o-lu tilin-ta.
child-DEF-PL play-PF.pOS
‘The children played.’

b. Kew-6 tiliin-td a  kdp-o la.
man-DEF play-PF.POS 3sG word-DEF  OBL
‘The man did not keep his word.’ lit. ‘played with his word’

c. Kew-6 ye mus-6o0  tulun.
man-DEF PF.POS  woman-DEF play
‘The man behaved frivolously towards the woman.’

d. Mus-6o0 ye dindin-o-lu  tili-ndi.
woman-DEF PF.POS  child-DEF-PL play-cAus
‘The woman made the children play / played with the children.’

X taunér = x sinks

Kilin-o tiunén-td bda kono.
boat-DEF sink-PF.POS river-DEF inside
‘The boat sank into the river.’

xy woété = x peels y

Wéto is a bivalent verb whose construction cannot include a term expressing the
thing being removed while peeling. In order to translate literally something like ‘The
boy peeled the bark off the tree’, bondi ‘remove’ must be used.

Stigktt-6o ye larific-60 wéto.
girl-DEF PF.POS  orange-DEF peel
‘The girl peeled the orange.’

x wiltu y 14 ~ x y wiltiu = x gives birth to y
x wiltu = x is born

a. Mus-6o  wulliu-td (sugktt-6o la).
woman-DEF give_birth-pF.pOS  girl-DEF  OBL
‘The woman gave birth (to a girl).’
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b. Mus-6o0  ye stipkut-6o0 wiiluu.
woman-DEF PF.POS  girl-DEF give_birth
‘The woman gave birth to a girl.’

c. ) wiliu-td Seejo L.
1sG  give_birth-pr.pos Sédhiou FoC
‘T was born in Sédhiou.’

whri ‘dig (for)’ is synonymous with sif and occurs in the same constructions.

x ydayi = x wanders
x y ydayi = x wanders round y

a. Kinun i ydayi-ta bdake.
yesterday 2sG wander-PF.POS a_lot
‘You wandered a lot yesterday.’

b. Musu-kéebda-lu nin deenaan-6o ye saatéw-o bée ydayi.
woman-old.DEF-PL. with baby-DEF PF.POS  village-DEF all  wander
‘The old women wandered round the whole village with the baby.’

x y yita(ndi) z 14 = x shows y to z

Yita(ndi) ‘show, announce’ is an exceptional case of a verb used with exactly the
same meaning and the same syntactic properties in its non-derived form and in a
form that seems to be derived by means of the CAUS suffix. Apart from this
morphological oddity, yita(ndi) is a typical transitive verb lending itself to the Active
/ Passive Alternation and to causativization by means of the ANTIP-CAUS complex
suffix.

a. Kew-6 ye natdal-6o yita(ndi) mus-6o la.
man-DEF PF.POS  picture-DEF show woman-DEF OBL
‘The man showed the picture to the woman.’

b. Natdal-60 yita(ndi)-td mus-6o la.
man-DEF show-PF.POS woman-DEF OBL
‘The picture was shown to the woman.’

c. Kew-6 ye dindin-o  yita(ndi)-ri-ndi natdal-6o la mus-6o0 ye.
man-DEF PF.POS  child-DEF ~ show-ANTIP-CAUS picture-DEF OBL woman-DEF BEN
‘The man made the child show the picture to the woman.’
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Index

abandon buld,

act on mutd,
affected (be ~ by) tard
aim biin

appear bd, finti

ask about riininkda
ask for ddani

attack boyi

available (be ~) soto
be (identification) ké,
be (location) tard
beat biisd,

become ké,

birth (give ~) wiiliiu
blink #ilisd

blink (one’s eyes) kdti
board brild,

boil fdji

born (be ~) wiiliiu
break kdti, teyi;
bring nda, sambd
build oo

burn jani, mdld

call kili, kiimdnd{
carry sambd, tda
carve dddda

catch mutd,

change ké,

chase bdyi

climb selé

cold (be ~) diin,, stimdyda
cold (feel ~) tard
come nda

cook tdbi

cough tootdo
consider mutd,

cover bit], muurd
cram séoli

cross teyt,

cry kumbdo

cut kuntt, teyi,

cut down boyi

deny baldn

destroy teyt,

die fda, sda

dig siy, wiri

discuss diyaamii

do ké,

dress diin,

drink mip

drive bori

dry (be ~) jda

easy (be ~) diyda
eat démo

effect (take ~) mutd,

encircle minin

enter diin,

erect 0o

extract bo, finti

fall boyi, biisd,, joldn

fear sildp

feed bdliiu

fell boyi

fill fda

find tard

follow bdyindi, buld,

frighten sildy

full (be ~) fda

gather bép

get soté

get on selé

give dii, s0

go tda

go out bé, finti

grind sii

hand diin,

happen k¢,

have soté

hear moyi

help deemda, mdakdyi

hide mdabd, nukiin

hit biisd,

hug miniy

hungry (be ~) kénké

hunt deemd

hunter (be a ~) ké,

hurt dimip

ill (fall/make ~) jankdri,
kuurdny, saasda

ill-lucked (be ~) siti,

jump sawtin

keep mdabé

kill fda

kiss sumbu

know [67

lament the loss of kumbdo

laugh jélé

lay down ldaq,

learn kardn,, nikin

leave bd, buld,, tii

lie down lda,

light mdld

like diyda, kanti, lafi

live bdliiu

load buld;, lda,

look at félé

love kant

make dddda, ké,

make (causative operator)
buld,
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marry fitiu, nii
meet bén, tard
move fAori, sawtin
move quickly bort
name téolda

occur ké;

offer nii

organize l6o

pain (feel ~) dimip
peel woto

play tiliip

pleasant (be ~) diyda
postpone fiori
pour bor, s6o
promise moyi
provide soto

push fiori

put buld,, ké,, lda,
put on biti, diin,
rain ké,

read kardn

refuse baldy
remain ti
remember buld,
remind buld,
remove bo

repair dddda

rest ddhda, fo6fié
ride bori

roll bori

run bori

sad (be ~) sunu
save mdabé

say fé

scream sdri

search fiiniy

see jé

send kii

settle buld;,

shave Iii

short (be ~ of) ddsd
short (be running ~) ddsd
shoot biin

shout at sdri

show yita(ndi)

sing lda,

sink tiiunén

sit sii

sit down sii

skin buistiu

slip diin,

smell sumbu

sound kumd

speak diyaamil, f6, kiimd
spend (time) ké,, tdamd
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stand [0o

starve kénké

steal suufida

sting biip

stop buld,, ddhda, f67i6, 160
stuff séoli
surround miniy
survive bdliu

take tda

take off bé

take out bo, fiinti
talk f6, kiimd
teach kardn,, nikin
tear fdrdsi

tell 6, lda,, moyi
think miird

throw biipy, fdyi
thresh biisd,

tie sitf;

touch mda
transform ké,
walk tdamd
wander ydayi
wander round béy, ydayi
want lafi

wash kiiu

wind miniy

wipe fitd, kénkon
work ké,

write sdfée
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